Jubgdogtdboodoogd

Juogugogdoouogn






010
1.1
1.2
1.3

1.4
1.5
1.6
1.7
1.8

020
2.1

2.2

2.3

2.4

oooooo

00000000 ... . e e
OOO0 . .. e e e e e
O0000000000D00000 .+ ... 0 e
1.31 O0000000000D0D00O0 ... 0 o .
1.3.2 FTCSOODODO .. ... s
1.3.3 FTCSOOOOO0O0O0DODOO0O ... ... . o .
1.3.4 Lax-Friedrich OO OO0 . . .. .. ..o oo oo
1.3 100000000 .. ... e
1.3.6 Lax-Wendroff OO DO OO . . . . . . ... ... ... . ... ...
O000000000 ... .. e e s e
BurgersOOOOOOOO . . ... 00 e e e
OO00O000 . ... e e e
TVDOOODO ... s s s
O0000000000 . ... e e s s

oo0Doooooooo

OO00O0O0 ... e
2.1 OO .. e
2.1.2 OO0 ... e
2.1.3 O0000 ...
214 000000 ... e
2.1 O0O0O0 .. .. e
OO0000000 ... . e e e
221 000000 ... e e
222 0000000000 ... ... e e
OO e
231 00000000000 ... ...
2.3.2 Riemann OO . . . ... . . .
233 000000000000 .. ... e
OO0 . . e

© © 0w I

10
12
14
15
18
20
21
24
26
26



2.5

030
3.1
3.2
3.3
3.4
3.5
3.6

241 000000O0ODOODO .00 oo s 46
242 000000 .00 47
OOO0O0O0 o e s s e e 47
251 00000 .. 48
252 000000 RiemannO OO ... 00000000000 oo 48
253 O000O0DOODODOODOOOO ..o s 50
254 0000000O0DOOD ..o 0o o s 52
250 UO0O0OO0ODOODOODOOO™ oo o oo 54
goooboooboobuobobobooon 61
OOOO .o 61
MaxwellOODOODODOODO ... o0 oo e 63
Burgers OO DOOOO Maxwell DO ODOOODOOOO .o o000 oo 67
DDO0000000000 ..o s 68
I 71

I 0 7



oy

gogbodbbbogobboogoobuoooboouobobuoobbbuooobboobbod
gobobboobooobooobbobbuoobboodooboooboobbooobbo
gboogbbuodgbbuoobbooboboooboogbooobboobboobbobd
goboooogaooboo

e ODOOOODLDLDOOOOODLDDO

guobbboooobbooooobbboooobbbobooobobboboooono
gobbbooogobobboooobbboooobbboboooobboboooooon
gobbobooboogoobobbooooobobbooooobbboooobbbooooo
gobbboooobbobooobbbboooobbbbooobobbbooonon
gugbbobooooobbooooobbboooobbbobooobobbboooonoo
ggobooogd

e DU OODLDLOUOOOLDLDOOUOODO

goobobboogoobobooooobboboooobbboooobbbooooo
guobbboooobbooooobbboooobbbobooobobboboooono
gobbobooogobobboooobbbobooobbbboooobbobooooon
guobboboboogoobboooobbboooobbbboooobbboooooon
ggbbobooobbbboooobbbbooon

e ODOOUOODLDLDOOUOOODLDDODOOOLODODOOOODLDO

gogdbbbbuooooobbbbuouoogobobbooooobbbbooogn
gboboboobuogoobooboobboobuoobboobooooboooooa
gobbobooboogoobobobooooobbobboooobbbooooobbbooooo
guobbbobouoodobboboooobbboooobbbbooobobbobooobo
U ReeDOUODOODODOODOODO

goboobobooobobboboobobboboooboobobbobobobboobono
000000000000 00O00 CANS O Coordinated Astronomical Numerical Softwares)
gobogoboobbuoboogoooobboobboodbbogbbaobboobd
gobbooogbooooobobboooboobbooooooobbboooobo






10 obouugd

0000 (0o0oo0)

gobogobobobbuodobbbodbboobbodbboobbooobboobobo
ObooboooboobboobboobbooboobbOod BurgersU oo
gobbogobogobboooboooobooobobboboooboooboboboba
gobbouggbbbooobobbbdoodgobboooon

1.1 O00oogood

gbubboogbbuooobobouobbbuoobboob 2002000000000
goooo

0*u —|—b 0%y N J%u N dau N ou
a ¢ — 4+ e—
ox? 0x0y oy*

ox Jy
ddddooouooooouooood

+ fu+g=0. (1.1)

gobbooboooob oobbododd oobbbobooon

Pu  ,0%u

2 _
ou 0%u
0? 0?

b2 — dac < 0 000 S —4rGp OOOOODO
ox dy

gbboddoogoboobbodobbbooooobobuoobooobobbooaon
gobogboobbobbooobooobooobooobobboboobbooboba
gobboogdgbboodd



8 gil1g obOododgod

1.2 00000
O00«w000002,y000000002000000000
(i, j+1)
®
y
(i-1,)) fﬁ .mm)
A
Y Ax\‘

(i, -1) X

011200000000

20000000000000000000000000 (2,9,)000000000 200
0Az0y000 Ay 000 0@, =2+ Az0y; =y, #Ay 000000000000 (i, 5)
0000 w,; =ulz;,y;) 000000000

0000000 (z;,y,)000000000000000

2 2 3 3

ox 2!\ 0x2 38 \0x? ),
ou Ax? [ 0%u Az [ DPu
0(12)000 (1.3) 0000
ou 3
Ui41,j — Wi—1,5 = 2Ax 8_37 A + O(AJZ ) (14)

gooooo

Ou :1%+w“_UFLj4—OCA$% (1.5)

or ), 2Azx '

00000300000 vw0 20000000 (fu/dz);0 Az?200000000000
0 (Az0000200000)000000000

ou WUig1,j — Ui—1,5
— ) ) ]_‘
<6x>i 2Ax (1.6)



1.3. gobbbooooboobooooan 9

gbbooooobbbogb
O0b0db0oAz0O000 100000000 DODODOOOObOO

ou U1,y — Uiy
_— = — gggog 1.
(%) =% mooo) (1.7
Qu) _%si Ui popp) (1.8)
ox Z.— Ax ’
O (1.2)DD (1.3)DDDDD
2 d%u 4
U’H-l,j + ui—l,j = 2ui,j + AZE @ + O(AZL‘ ) (]_9)
goopoodg
82u Ui+1j — 2’&1’]’ + Ui—1 j 2
= : : : A 1.1
(55) iy T Uls | O(Aa?) (1.10)

00000w«0 200002000000 (0%u/d22);0 Az00002000000000
000000000000

0%u Uit1,j — 2Uij + Uiy
_uin, , , 111
<8x2>z Ax? | )
ggoono
9%u _ Wigy1 — 2u4,5 + Ui i (1.12)
Oy? ; Ay? ' .

1.3 bUbubogubotubobouuoogon

1.3.1 0J00ooobuogoooon

gbdggoboogobooogobooooboobbuoobbuoobbuoobobbuoooo
goobood

ou ou
o teo =0 (1.13)

0000c0000¢>00000000000000000«000000000000 ¢
000000000000000000000
000 (1.13)00000

u(z,t) = u(z — ct,0) (1.14)



10 gil1g obOododgod

y t=0 y >0
u, c u, c
— Ui — U1
X X

U112 10000bobooooobbbbooobob

obooboobodt>o0000000000«000D000D00¢t=0000000 w0
gobbooggbbibdgooobbboooobboooobon

gbobob 120000000 z>200u=uwplz<00 u=uwp 0000x=000000
gobobooodb¢t>0o0obboooobbbbooonon

1.3.2 FTCSOOOU

1000000000000 0 (1.13)000000000oDooOd 0 At0000 tyy =
t,+At0 000000000000 0DO00DOO00O00obOOo0obO0boobDOobObObOOobO
u? = u(z;,t,) 0000

oy

J J
At T 9Ax

000000000000 FTCSOOODO (Forward in Time and Centered Difference in
Space) 00000 O0OOOOOODO

n n

=L —o (1.15)

n n 1 n n
ujJrl — uj _ §V<uj+1 — uj—l) (1.16)

gobby0ODOO0000bObO000ooooobbboooon

At
v=cn (1.17)
Oo01iledoooooo ¢, 0ooboooood t, =t +At 0000000000 0O0O0O
0000000 ¢,00000000000000000000 1000000020 (t,4) O
0000000000000 DL00D000000000O00D0O0ODLD0O0ODOO0ODO0OOFTCSO
goooooooooooboooobobob 3o oooo s, oo n
goodouoooooo ¢, bbb ougouoooooo

10boogobbobdoodgbobobuoooobboooobbbbooobobo

1. 0000000000 ;000000 ((@CO0G00O0)



1.3. gobbbooooboobooooan 11

VN

I T X

O 1.3 FréSooooonoonopoooonon

2. 0000000000 w(t=0000000(0000)

3.00¢0000000000000000¢,«0000000000000000000
000000000

() 0000000000000000 At00000000000000000 (000
0)00000FTCS000000000000 (1.16)00000

() 000000000000000000000000000000000 (00000
0o)

(c)000 AtODO0O0O0

O 14 000FTCSODODOOOOOOOOOOg=1,..,500000 vw=104=51,...,100
O000w=000000000v=cAt/Az=025010000020000030000
Dbobobd«0000ooboboobobosobobobloooboboobobol «00
goboooog

rrécSsooboooobobooobooooboboooboobooooDonDo 14bbbboo g
gobobbuodgbbogbbboobboboobooobboooboboobboobobd



12 gil1g obOododgod

gobogubbuogobogoboooboobbodbboobbuoobbboobobo
gobooooooon

1.3.3 FrCSOO0OoOoooooonog
Von Neumann OO OO OO

000 FTCSO00O0O0O0O0O010000o00bobOooooooobooooboobooog
oo bbotboddddoouboo 4o ooo
googdd

uj = cos(jo) (1.18)

0000 (1.1) 0000000000000 000000KO0000=kAxz0000000
obooobobbbe=r000 «;00 15000000 200000 10000060 =n/3
gobbuogdgdgbbetboodb l1bbbooodgbbon

0=T11 0 =r1/3

AL D
VAN AN

015 0000000000000« =cos(j¢)0000000000: #=7x00000
00 ¢==/30000

goooo

n+1
uj ™ = cos(j6) + vsinfsin(j6) (1.19)

gobboogobobaogoooo

wit? = (1 —v*sin’0)cos(j0) + 2vsinbsin(j0) (1.20)
= Re [(1 — ivsinf)’e ”9} (1.21)
gobobooodd:0b0bbddRebbbO0O0oOobbbOo0Ob0oobDbbOOOO

;‘J’k Re [(1 — ivsind)e ”9] (1.22)

gobobdadg



1.3. gobbbooooboobooooan 13

000 (OoO0O0O00)000000000000D00D0ODOOODODODO (1.18)Dooooo
goo

uj = gret (1.23)

0000000000000 0g0O0001000000000D00000O0 jgj<1000O
O00000000000000 Von Neumann OO0 OO0 OOOOOO
uj = gexp(ijf) 0 FTCSOODOOOODDOO

1

g = 1-— §u(ei9 —e ) (1.24)
= 1 —ivsinf (1.25)

goodg
lg]? =1+ v%sin®0 > 1 (1.26)

oobooboobbe=00000000 FTCSOUODOODOobDOobooOooooDOo

gobboogoobd

gbobboooobobbuoooobooboogobobooo

gdtdddotodooooooouoooooouoboobobboobbbobbbbbbda
OFTCSO00000CO0000000O0O0000O0000000t41=t, +At0xj4y =
r;£Az 000000

ou 10%u

n+tl _ . n 2
n . Ou 10%u, 5 10, ,
" . Ou 1020, , 1Pu, 4
rréSsooooooaoon
n+1 n __ 1 n n 1 30

0000 (1270000 (1.28)0(1.29) 0000000

ou 10%u ou 1 0%
—A iy, N7 —A ST A 1.31
ot g V(@x SR > (1:31)
Odoodogno , \
ou ou 10%u c 0°u
el = T At — — A4 . 1.32
ot T Cor T oot T gt T (1.32)



14 gil1g obOododgod

gobbooggbboogo

ou ou
5 = ‘oz (1.33)
00 ) 5
v ,0%u
oz~ o (1.34)
dodogoooano
ou ou 2 0%u c O3u
— e = At— ——— A2% + .. 1.
ot +C&E 2 Ox? 6923 * (1.35)

guddgdooobooooobboboobobob1bbobbbobooooooooda
ooboomobooobboboboobobooboboboboobobmoboooboon
gboogbbuogbbuoobooobbooobboobuoobbooboboooboobbd
gobooooogon

O0000o0oooboOo0obOoOoOobO0obOOo0ooboOob FICSO0DOO0O0ObDOoOooDOobooDoOoO
gobboogn

1.3.4 Lax-Friedrich OO OOO

000000 FICSO0000000 w0 (v, +4),)/200000000000000
0000

un—‘rl _

1 n n v n n
i = i(ujJrl +uj_q) — §(Uj+1 —uj_q) (1.36)

u? = g"exp(ij§) 00D DO0D0O g0O0DOD

1, . . 1 . .
g = 5(610 + 6—10) o 5<€u§' _ 6—20) (137)
= cosf — ivsing (1.38)
gogodo
lg|* = cos*@) + v?sin’0 (1.39)

0160000 |¢g0#00000ODODODODO (¢9,0) 0000 Lax-Friedrich OO0 00000
00000 v=cAt/Az0 |v|<1000000000000000O0O0O0OODOOOOO0O
00000 Courant, Friedrich, Lewy 00O (CFLOO OOOOOOOOODO)00O0OO

0000000000000 0000000 (136) 0000000000000 OO

1—-v 1+v

ol = 5 Ui T U (1.40)

u

000000 |v|<100000000000D00 t=t,.,00 u?“Dt:tnDj—lDDD
wy  Oy+1000w«, 00000000000



1.3. gobbbooooboobooooan 15

v=1
v=0.5\ 9
0
1 1

0 1.6: Lax-Friedrich DO OO0 O0OO0O0O0OOOO

boundary

1 Ax j j*+1 X

O 1.7 Lax-Friedrich OO DO OO0 0O0OO0O00OO00O00OO0O00O00O0 v< 1Ov>100
gobboooood

0 1.70 Lax-Friedrich 0 000 00000000000000000000 ¢t=¢,.,000
00000000000000000000¢=¢00000000 v=cAt/Az<100
00000 »y>1000000000000

0000000 |dAt<A000000000At000000000000OOOO00
00000000000 0w, 0}, 0000000000000000 At > Az/|c|
0000z, <2<2z;,00000000000000000000000000000C0
00000000000

0 1.80 Lax-Friedrich0 00 0000000000000000000000000000
000 000000000000000 OLax-Friedich00000000000000000
000000000000000000000000

1.3.5 100000000

gloggbbuoogboooboobbboobbooouodobbyoobbboobo
suobbooddby—-100b0o0oobbboooobbbooobbn



16 gil1g obOododgod

0 20 40 60 80 100
X

O 1.8: Lax-Friedrich DO O OO0 0O0ODOOO0OO0ODOOODOOOOOODOOO0OOOOODOO
gobbodv=0250500000010000000000000000

boundary

aY
A\

F1 41 1 BX i1 X

U 19 00bobobogboboobooulggobbooobooobooobooobobo
goboooggd

10boodbboboooobobooooobbooobboobbbooobbboooboobo
gobbOUe>000000000000000

um u? — u?
J J J =l _ 1.41
At te Ax ( )
godod A
n n t n n
WP = — e () (1.42)

gloudblbuogobbooobbooobboooboboooobb s uoooo
gobboooggooooooodo g, bouogobooo g, buooooboood
gobbogoood

gobo

g = 1—v(1—e™) (1.43)



1.3. gobbbooooboobooooan 17

= (1 — v+ vcosh) — ivsinf (1.44)

goooo
lgI> = (1 — v+ vcosh)? + v?sinf (1.45)
= 1—2v(1 —v)(1— cosh) (1.46)

O000000<v<100000006000O0O g <lO00D00DODOOOOOOOOO0
gbgbboboor420000b0000b0000

It = (1 —v)u! + vl (1.47)

gobodgn O§y§1DDDDDDDDDDDu§?+1DDDt:thDjDDDDDDDDD

Joddt¢t=¢, 000000 1900000000000 0O0O00O0 u(xj—cAt,tn)Du?_ID
wyOooooooooboboood
3:"'x"'x"'x"'x"': 3:"'x"'x"'x"'x"'
-1t 1 1 1 1 E -1t 1 1 1 1 J
0 20 40 60 80 100 0 20 40 60 80 100
X X

0 1.10: 100000000 DO000bObO00bbO0o0bbo0oo0boooboobobboo
gbobugbtd v»=025050000001000000000000000ry=0.800 16000
go320000000000d

gliogoobuodgogboboouogobbboooobobobooood

gooo

e J0000vO01,075,050000000100000000000 |g/0006000
000000000 (g, 00000000

e 10000000O0O0ODOO (142)00000000O0O0O0ODODOOODOOOODOOOO
godbbbbouodgooobbooobo1l1obbbouoogooobuoooonon

gooooog
ou ou 1 Pu 1 B
ou O L -2 A2 — 3 1Y 1.4
(9t+68x 5¢ x( V)8x2 60( x)*(2v° — 3v + )8x3+ (1.48)



18 gil1g obOododgod

1.3.6 Lax-Wendroff 0 00O OO

Lax-Wendroft 00 O OO0 O0000O0O0O0O0ODOOOOOODODOOODOOOOOODODOOOO

8 0*u
n+1 2 3
0002000300 au/at:—c{?u/ﬁxﬂ 82u/8t2:c282u/8x Oo0o0o0oo
it =l —cAta—Jrf?At?iJrO(At?’) (1.50)
Ox dx? '
0000 du/oz00%/02>00 0000000000000
I ujyy —ul At
n+l _ . n +1
u; —uj—§cAth+2c (A:v) (ufyy —2uj +uj ) (1.51)
000 Lax-Wendrof 00 0000000000000 O0OODOODOODOOLax-Wendroftf 0 0 O
goodooobobooboo20b00b0b0bbobbbuoon

Lax-Wendrof O OO OOOO0O0O0O von Neumann OO OO0 O OO0OOOOOO0OO

g = 1—5( W_e i9)+’/22(e“’—2+e—“’) (1.52)
= 1 —ivsind + v*cosf — v? (1.53)
goooon
lg* = [1— 1% — cosh)]? + v*sin®0 (1.54)
= 1-20%1—v?)(1 — cosh) (1.55)

00000 <1000000060000 |gj<1000000D00D0ODO0OOOOOO
1000000000000 0Lax-Wendroff 00D O OOOODOOO2000000000
OO000D00000000 200 Lax-Wendroft OO0 O

nilj2 | Wi T U? 1 At

uj+1/2 - 9 2 A ( ]Jrl —U;L) (156)

n n At n+1/2 n+1/2
urtt =l — cﬂ(ujﬂ//2 - “j71//2) (1.57)

gboboboogob riiooooodad

01120 Lax-Wendroff OO0 00 1000000D0O00O0O0COOCOOOODOOOOO
gog

Lax-Wendroff 00000 O0ODOO00O0OOODO20000000000000DOO000O0OO
gobbooodgbbbouooobbbboooobbuoooobbboooaob

Godunov OO O

100000000000 Ju/ot+cou/oxr=000000



1.3. gobbbooooboobooooan 19

wd—

I B X

O 1.11: 200 Lax-Wendroff OO DO DO OO ODO0ODOODOODOOOODOO ¢, 000D0ODOO
j—1070,;+1000000¢,4,,, 0000000 5-1/20+1/200000000000
gooboooooboboooooooboob L, boooobbbooooon

Wt = apul (1.58)
k

gbo200b00obobogbooboooboobooboobooboobooboobonoon

000000000000 0000000¢,0000000000 wu(z,t,)02000
00D0000000000000000000000 t,,000000 u(2,t,s) 00000
00D000000000000000000000000000000000000000
0<y <100« 000w, 0w0000000000000 W, <u}<ul, 00
W <t 00000000000000Goedunovd 0000000000000000DO
(1994)00000000

00D000000000000000000

e JUUIOUOOOO
gobbob <0000

~n n At n n n
uj+1 = ujH + K@(Uj-i-l - 2uj + uj—l) (1‘59)
gooo

U000 «x0000000D00D0O00DO00D0OOO0ODO0OODOODOODOODODO,
goboboooooon

Kjr12 = QuAz|uf, — uj (1.60)
e JUUOUOODLOLODDODO
gooooboobobobd



20 gil1g obOododgod

0 20 40 60 80 100 0 20 40 60 80 100
X X

O 1.12: 200 Lax-Wendroff U0 O 0000000000 DOODOOOOOOOOODOOOO
gobobobooddd »=02505000000100000000000000000000
r=080016000003200000000000

1.4 O0O0OO0OO0OOOOO

10o0oooooboboo

ou ou

5T =0 (1.61)
dododoooono 5 o7

u

T 1.62

ot "o 0 (1.62)
gogo

f=cu (1.63)

0000000000 (1.62)0000000000

0000000000000000000 1.13000000000000 (212 < <
2j41)0000000«0000000000000000 (1.62)0 2 =1;_1,00 =1
0000000000000

0 [Tj+1/2
E%ijfmw+f@ﬂuﬂ—f@juﬁ:0- (1.64)

gobbooddb 0000

uj :/ e u(x, t,)dz (1.65)

j—1/2
D000000000000000000 2,4,,00000000000 f4,, 00000
gobboouogaboboo

At
j Ui = ?x( ir1y2 — i) (1.66)



1.5. BurgersO OO OQOQOOO 21

-1 ] 1

U113 ddbobooggobobooooobbooooboobbda

000 (1.66)0000000000000000O0O0O00OOOOOOOOO0O0O

googgbobodn fzﬂ/QDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
oo ogodn DDDDfJTZﬂ/ZDDDDDDDDDDDDDDDDDDDDDDDDDDDD
goboooogon

e 'TCS
m 1 n n
fj+1/2 = §(fj+1+fj) (1‘67)
e Lax-Friedrich
rn 1 1 n 1 n
Frap=5 0= D+ @+ 8] (1.68)
e Upwind (DO ODO)
m 1 n n n n
i+1/2 = 5 {( T+ ) = el (ulyy — u])} (1.69)

00000c¢>00000 f7y,,=/0c<00000 flap=/f, 000000

o Lax-Wendroff

(=) ffr+ (L4 0)f7] (1.70)

N | —

fjn+1/2 =

1.5 BurgersUUOOOOOOMO

gbbooouougibb cObouogbbuouobbuooobbboobbooobbogan
gobbboooooodgoobbboboooooooobobbooooobbboooad
OO00000 BurgersUO OO QO OO

ou ou
o Huz =0 (1.71)



22 gil1g obOododgod

O0000000000000000000d/dt=0/0t+vd/0xr 000000000000
gooo

du
— = 1.72
o =0 (1.72)

gbbodgbbuodoboobbooobboobboobboboobboobbobboboo
bbb «w=00 0D0O00bboooobobuooobbbod 140000040 obad

g obb+2000000000 —z000L0DLO0ODLDDOOODODOOOOO0OOOULDO
gobbogbobooobbooobbooobboouobboooboboobboobbodobobd
gobbooggbbouogoobbooooobbbooon

gog

1.01f

0.99

O 1.15: Burgers U0 OO OOOOUOOO0ODOOOOOODOOODOOOODOw>000000
O00000w<0000000000000000000000000 At/Az=080000

BurgersUOUODUOOOOOOOOOOOoOoooOoooobboobobDobooooobooDo

ou 0 [u?



1.5. BurgersU OO OOOOO 23

000000 f(z)0 f(z) =«?/20000000000000000000000000
0000000000000000000000000000000000000000 ¢0
000000000 c¢>0000 f2,,=f000000000000000000 j+1/2
000000 (u(t)+uq(t)/20000000

o wini() +u() >0 0000 fy = 7 = |u(t)]*/2

o uji(t) +u;(t) <00000 ffﬂ/z = [l = i1 (8)]?/2

01150000 u(z) =1+esin(kz) (e=0.01,0< kr<2r) 0000000000000
00 Bwgers 000 0000000000000000000000000 115000000
000u~1000000000000000000000000000000000 c¢=1
00000000000000000000000000000000000000000
0000000 1150000000 u~—-1000000000000

000000000000 Bugers0OOOOO0OOOOOO 1.16000000000000
w(z)=1+0.1sin(kz) 0000000000000000000000O000000000O0
0000000Bwgers00000000 wdu/0x0000000000000000000
0000000000000000000

115~ T T T

1.10}
1.05
S 1.00p

0.95F}

0.90F

0850 . o
0 50 100 150 200

0 1.16: 000 u(x) =1+0.1sin(kz) DO0O0000000O0O0ODOO BurgersOOOOOODODO
O000000000000000000000000000000 At/Az=080000



24 gil1g obOododgod

1.6 0OUOOOOO

goooogboboobobod BurgersUOODDODOODODOODOOOODOOODODODO
gboogbbuogbbuogboggbooobboobuoobboobobooooboobbd
0000000000000 0DO000b00DO0OD0GodunovO0 O ODOODOODOODOODOOO
gobbooggbbouooobbbooobbbbooooon

Lax-Wendroff 0 D 00D DOODOOD0OOODOODOODOODODOODOOOODODODOOO
0000000000000 000Lax-Wendroff 00D 0OODOO0OO0OD0OODOOOOODOO

~ 1
ff+1/2 = C[U;L + 5(1 - V)(U?H - U?)] (1.74)

gobbooodgglooboouogobbbodgd e>0000 ]FJ”H/Q:cujDDDDLaX—
Wendroff 0O DO OD0O0ODO0ODO10000000000000O0 Lax-Wendroff OO ODOODO
obg200000000000000

m n 1 n n
fj+1/2 = C[Uj + 5(1 - V)Bj+1/2(uj+1 - UJ)] (1.75)

0000000 B, 000000000000000000 (1.75)0000 (1.66)00
goboboooggbbooogd

utt —u? 1 1 B;
oyl — (1 - v)B;_ Syl — ) I 1.76
uy_y —uy g 2( v)B; 1/2]+2V( ) Tj (176)
good
ikl
S 1 (1.77)
Uj1 = Uy
good

U 1.17:DDDDDDDDDDDDDDDDDu}”lDDDDDDDDD

gboboobobooboboobooolavybobooood U?-HD wy Oy, 0000
0000000000000 000000O000OD00O0 (1ve) D0D0O0ODOOODODODOOOOO



1.6. 0bOOooOodgd 25

ooooog »
0<H Y <y (1.78)
u]_l_u]
O0(l76) 0000000000000 O000O0O0O
2 B 2
—Z < By - 2 < 1.79
y = IR ry — 1-v ( )

CrLOO0D0OD0O0O0O0O0O0OD 0L vL1IOOOG

B.
—2< Bjyjy — %1/2 <2 (1.80)
J

gobbouggbbbbooobobobuooodbboooooobn

0< Bjy1ja <2 (1.81)

0o

B
0< —IH2 <9 (1.82)

Ty

00000000000 1.1e000000000000r<00000 Bjye=00000

Bj+1/2

4

] ] .
\\Q \ \ r
N
O 1.18: 000000 Bj+1/2(r)DDDDDDLWD Lax-Wendrof 00 0O Q0 QOQO0O0OO0O0OO0O
O00000O0minmod O minmod O OO

Lax-Wendroff 00000000 Bjy,=1 (00 LW)000000r<1/20000000
goboguobooogbbogobooobobooboobuoobbuooobboobboog



26 gil1g obOododgod

00000000000000000000000000000 minmodO 0 (00O minmod)
gooo

0
minmod(r) =< r (0<r<1) (1.83)
1

1.7 TvDUOOUOO

gbbodgboogbbooobbooobboobbodobbuooobuobobooouoobon
gobbooogobbboooooon
gboboboglibobobuooggbobuooogbooooobobooboooon

-]

gbobobgoboobbobooogbboboobuoobooboboobooboobboon
dU/dt =000 00

gbbodgbbbobobbooboogbbooobooobbooobooobboobo
O Total Variation (TV)O OO0

du
— | dz. 1.84
dz| " (1.84)

TV(u") =) |ulfy, —ull (1.85)
J
Total Variation 000D 0000000 ODOOO0O0O
TV (") < TV (u") (1.86)

0000 Total Variation Diminishing (TVD)O O OO OO
00000000 bobo0ooobboo0obbooooo TVDOOOoOooooOoooooo
gogdd

1.8 ODU0OO00oooood

gobbuogogbbbouooobbboooon

e JOOOOO .
2
YL T
5 kV
e JOOODODOO 9B
— =nV’B

ot



1.8. Obbooogooooo 27

gbbodblogoboogbobooobodbboobbuoobbuooobboobn
000000000 ¢t=00000 u(z,t) 00 w(e,0)0000000000¢(>0)0000
u(z,t) 00000
2
?Z:Kg;; (1.87)
gbbdx0z0000000000000000000000000b0O0O0DDOODODO
gbobobgoboobboboboobuoobodobuaboboobuooboobooobooboon

U 119 0d00bbouogobobbbod

000000000 (explicitO)

10000000 1800000000000, 0At0D000 tyy =t,+At000
0000000000000 0ooo (FTCSO00D0000000oooooooooooon

uf =u(r;,t,) 0000

utt — ullly = 2ul 4 ul
J J j+1 J j—1
= 1.88
N Ax? (1.88)

0(1.88)0000000000

uj+1:uj_|_A—x2(uj+l—2uj+uj_l) (1.89)
ooooo ¢+, 0oo0ooboooo t,m=t,+At000000D0O0O0ODOOCOODOOODOOO
0+t 000000000000C000000OO0O0 1gogooooo (t,w)ooooooo

000000000000 (oom



28 gil1g obOododgod

Von Neumann OO O OO0

FICSOO0ODOOO0DOO0O0O0OOOoOoboooDog u?:g”exp(ijG)D FITCSoonooonon
HRN

gn+1€z]0 :gnezje + Zngn[ez(j-i—l)e _261]9 —|—€Z(]_1)0]. (190)
gogd A
t
—1- QZ—xz(l — cost). (1.91)
0000 |¢/<10000000
At
—1<1— 2Z—x2(1 — cosh) < 1. (1.92)
goodoo A A 5
KAt KAt .,
0< A—xQ(l—COS@):A—xQQSID igl. (1.93)
0006 (00D00000)0DDOOOODOOOOOOO
o< AL ] (1.94)
— Ax?2 T2 '

OO0DOO00OO0FTCSOOOO0ODOO0OO010000O00DOOO0OO0DOOODOOOODODODbDOOD
0000 At+0DO0ooooooOopoooobooooobo0oobooogooboooobooooo
O00000000000000AtDO /400000000000

000000000 (implicitO)

goboooobobboodgoooooooboboooobobooodgd ¢, 0b«00ogg
O00000000000000000000 U000 (implicit) D000Oexplicit 000000
OO00000D0o00obo0oobOoOonoOn Crank-Nicolson OO OOOO0O0OOO NODOOODOO
gobooouogooobooo

n+1 n n+1 n+1 n+1 n n n
A R PN ) i A (1 a2~ 2uj +uj_ (1.95)
At Az? Az? ‘
godoooooobooouoobuooooo
Au"tt = b(u"). (1.96)

000000« 00000000

gooo

.00 A0DO0DODOO000O0DO0ODODOODOO



1.8. Obbooogooooo 29

2. Von Neumann 000 0000000A>1/2000 kAH/Az2>00000000 At O
000 Crank-NicolsonO O OO ODOODOO0ODODOOOODOOOOOOODOO

Ooon

()0000000000 (1994 0000ooooooooo

(2)0 0000000000000 00O0O0O0 (200000000000D0OOO

(3) Numerical Computation of Internal and External Flows, C. Hirsch, John Wiley & Sons,
1990

(H)OooooUoUooooDooooO0O0U0DUODO0DODoDDoOOoOoOoUOOoooOOoDOoOooOo






31

20 OUOOOoOoondgn

gbooobooooooboo

gobbooboodgboobbuoobbuooobbuobbuoobbbuoobbboboooadg
gobobobogbbuougbbuogbbuoobogbooobobooboboobboobobd
goboboooobbboooobobbooodo

21 U0Odog

gbbodgbuoobobuooobboobobooobobbobboooboooboobn
gobooouogooboo

2,11 00

gobogobogobooboboboobobooboboooboobboobboobbo
gobboogoobobdaogooon

)
9 [ av = _/ -nd 2.1
8tx;p‘/ s 5 (21)
0000000000 GaussO OO
/ E - ndS = / divEdV (2.2)
S 1%
0000D0000000000000
)
/—pdv+/ div(pw)dV = 0 (2.3)
v Ot v

gboogbbobboodbbodbboobbooboogoboooboboobboobbd
goobooo
vaooboooboogboboboobooboobobboob

dp . _
e + div(pv) =0 (2.4)

gooogadg



32 U220 0O0d0dogobooodd

2.1.2 0O0OO

gbboboogbobooobooobboobbbbooobooouoobboobo
gobogoboobbboodgbobobooobbuoobbuooboooboooboobod
gobobooogbobbooogd

aat/vpvdV: —/Spv(v-n)dS—/SpndS-F/Vpgdv (2.5)

do0ogodoiogooooobooonogoogo b oo oo oo b gooouooggn o
gooboobooooob pggdogooboooboboooobboooogobn
GaussO O O

/S fnds = | gradfav (2.6)
1%
gbdddododooouooouoouoooao
dpv )
—dV+/ div(pvv)dV = —/ gradpdV—i—/ pgdV (2.7)
v Ot 1% 1% 1%

OoOovoboooooboooboo

8apt'v + div(pvv) = —gradp + pg (2.8)

JodddUpvod0oooon
PULUz  PUZVy  PULU,
pvv = | pu,u,  pUU,  PULL, (2.9)
UV PULU,  PULU,
doodooooooooooooooog

Opv;  Opvv; op
= — ; 2.1

gobboddidilx; =202 =ylzs=z0000000

21.3 0O0OO0OO

gbbodgdgbbodobbubboobobbuoobbbobegobbuogobboognn

gobebnd .

e= =

2
ooooooOO0O0O0oo0oO0o000000000000000000000000000000
OO0000000000O0x0000000

plv|* + e, (2.11)

€=, (2.12)



21. 0DOOO 33

UrybOooooooobbbbbbuooooobbbobbboooooobobbboooad
O00000O00e/0t+diviev)=000000000000000000
gboboboobooobooboobuoobooboobobovuvoob vo

dU dVv
Y g 2.13
a TP (2.13)

gobboodggbbouogobboooobbbooon

%Afﬂqmlﬁ%va=Q (2.14)

000000000000000000000000 (n-v)dSO00000O0O0OOOO0O
gooobbobbogobbogoobobuoobbuobbbodbbuodgbbboobbod
O¢t=0000V(t=000000000O0¢t>00000V)DDODDODO0OO0D0DO000O0O0OO
gobogbuodgbbdobooobobbuooboobooobboobobobboodabbd
gobogbobouooobooobooobooobobbuoobbuoobboobobbobd
goo

d )
il = : 2.1
dt%;aﬂ/ atx;aﬂf+¥éeﬁl1ﬁd5, (2.15)
0ooooo ,
axkﬂﬁ+édnnmﬁz—pﬂﬁuva (2.16)
D0D000000000000000000000000 O
Oe ) .
g + div(ev) = —p divy (2.17)

0000000000000000000000000000OO0O0OO0 (280000000
gobogbobouootobbuoobogbboobbboobbooobboobbooobobdo
gobbooooood

plv|?/2 2
M—l—div Mv = —wv-gradp+ pv - g, (2.18)
ot 2

oot oouooouoouoouobooouoooood

goo

19)
a—f +div|(e+p)v]=pv-g (2.19)

dudegddoooobbooobbbbon
LT
6:5,0\1)\ + €, (2.20)

goboboood
0000000000000 (24)0(28)000 (219 0000000000DO0OO0OOO
gobbodoggbbboooobbbuooogboboooooobobooon



34 U220 0O0d0dogobooodd

214 0O0O0OO0OO

gbbbooobobbbuobouooobbbbooobobbboo

1. 1
EJ XB = —EBX (VXB),
B? 1
0oDOO0 (2.8)0
dpv B? 1
ov o __ _v(Z)+ B . V)B 2.22
at+V(Ww Vp+ pg V(%>+M( V) (2.22)

O0O00000oboOobO MaxwellUODOODODODOODOOODOO

apv; 0 1 1
o *’axfp”1“'%p i~ BBt o i) = pg (2.23)
oo b o bbb o b b oo booo o

gobobooggbboooobbbboooooo

0 B2 1
a<e+8—w>+v-[(e—f—p)v—i—E{Bx(va)} —0 (2.24)
ooogoon
Oo0oooooooooooooon
0B
VxFE=—— 2.25
X 5 (2.25)
ooooooooo
C
VxB=—j 2.26
X e (2.26)
ooooon
j=o(E+vxB) (2.27)
oooooodgoon )
0B ¢ s

0000000000000000—0c000000000 (ideal MED)OO OO OO
00000000000000000000 (24)0(222)0000 (2.23)0(2.24) 0 (2.28)
0ooo



21. 0DOOO 35

215 0000

gbbboooobbbuoooobbouooobbboo

2t »
e
2
8g:z 87;;vx 87;;Uy 3Pﬁ;%+'p = pgs, (2.32)
% * a<€ gxp)vx + = ;yp)vy * & ;_zmvz = p(VeGx + Vygy + v:92), (2.33)

gobobbodbbbodbboouooobbuoobbuoobbbooboboboooada
goboobbodgbbbodbobbooobbuoobbuoobboobooboogboo
goboooogobboooon

DO0ooooO
p
Pz
U=| pv, |, (2.34)
pv.
e
0000000 z000y0002000000000
[ opve ] oy, ] [ pv. ]
pvz +p Py Vg POV,
prvy |, G=1| pvi+p |, H= PV (2.35)
PULV; PV pv2 +p
L (e +p)vs | L (e +p)vy | L (e +p)vs |
B oU OF(U) 0GU) 0H(U)
at e e T o = S(U), (2.36)
SO00D000000000000D0000000000
] . _
P9
S = PYy ; (2.37)
Pg-
L p(V2gz + Vygy + v29:) |

gobooooogon



36 U220 0O0d0dogobooodd

22 0J00O0ooOoOooog

gbbuobboogbobuooobboooobooobobbooobbuoooooboobn
goboguobbogobbogboooobobbbodobbboobboobooobboa
gobboooobbooooobbbooooobbuooon

221 0O0O0O0OOO

gboboboooobbboooooo

op 1 0rpw,
-+ = =0 2.38
8t_+ r2 Or ’ (2.38)
opv, 1 0r*pv? Op
il r— _ 28 2.39
ot + r2  Or or’ (2:39)
de 1 9r¥(e+ p)o,
—F+ ————=0 2.40
ot +_r2 or ’ (2.40)
O00000.-2000000000000000000000000
p POy 0
U=rU=r*| pv, |, F=r»*F=r*| p?+p |, S=| 2rp |, (2.41)
e (e+p)u, 0
ogoooooo _ _
ou oFU) _ -
=S(U 2.42
YR _ s (242
goooooo

222 Q0000OOOoooon

00000000000000 (,-)000000000000000000000 (2,7)0
D0000000divA O §A4,/0x+0A,/dy00 (1/r)d(rA,)/dr+0A,/0-00000000
000000000000000000000000000000000000000000

10 pvr pUZ pv’f
2 1 2
oo L R IR TP I SR | L B
PU; PUrV; pv; +p " PUrUz
e (e+p)ur (e+p)u. vr(e+p)

gobboogobboooon

Qg+8F@U+8G@D
ot or 0z

= S(U), (2.44)



23. 00O 37

Jdoooooooooooooooooonboo r—-000000000ODODDODO0O0OOOOOO
v, - 000000000 DOO0O0O0O0O0ODODOOO00bObOOo00gbobooooonDoboDn
gooooogn

0
U=rU, F=rF, G=rG, S= g , (2.45)
0
goobooooooodo-ooooboobooobooooogo
U OFU) 0GU) . .
- = 2.4
o "o e o) (2:46)
gooooon
2.3 OO
gooooooooooooboooogo
oUu OF(U)
- = 2.47
(9t+ ox 0, (247)
p pUs
U=| pv, |, F=| p?+p |, (2.48)
€ (€+p)vx

goboguobbuouobbuoobbuoobbuobbuoobbuoobbuoobbbbobd
000000000 p=p(p)000000000O000O0O0O0OO0OOOOOODOOODOOO
gobbogoboogooooboooobuotgeggbboobbboobboobod
O0000p=KpO0OODOOOOOOOOp=p(p)0O0O0OO0OOOOO

oU OF(U)

E -+ ax = O, (2.49)
U:<p>,F:< Tx>, (2.50)

Pz pUz +p

0000000 p=KpOoOoOOooOooooooooooooboo
00009p/dx = (Op/dp),y (Op)0x) = 20p/dx | (Op/0p),y =c2000000 ¢, 0000
00 |00000000000000000000

dp  Opu,

0t+ ox

Opve  O(pvz)  ,0p _
o T ox %o

— 0, (2.51)

0, (2.52)
0000



38 U220 0O0d0dogobooodd

23.1 0JO0Uogoboobogo

0000000 p0000000v, =000000000000000000|8p| < pol0
v, < ¢[00 (2.51)0 (2.52) O

dp v,
— — =0 2.53
ov, 2 op
x4 2P 2.54
ot poOx ’ (2:54)
oo
gbotbotdouoboobotuououooooobooood
o ( p 0 po\ 90 ([ p
— — =0 2.55
8t<vx>+<c§/pg 0 )ox\ v, ( )
gdddodododoouoouoooo
0 [ wu 0 ([ w
— A— =0 2.56
8t<u2>+ 81‘(1@) ’ ( )
gdddodododooooooooooooon
ou ou
= A =0 2.57
o or (2:57)
0000000000000 0D0000000 A0DD0DOO0DO0O0O0O0O0Oooon
0 Po)
A= 2.58
(Cg/Po 0 ( )
00000doooooooooooooo0d Mq=—-0000 M=+c, 00000000
00A00OO00O0
A 0O
A= , 2.5
(v 250

D00D00000000ADODOO ADODODOODOOO000ADODOOOODO »®@00
0ooo

Ar® =\ (2.60)
OrO9000000 (o, /))000000000000D0O000ADCDOOOCOD Y000

0Doo

LA = )09 (2.61)
09000000 (3,6)000

LOArD = )\, (2.62)

ooboooooob:.=12000000000 00000000000 0OoDooOboDOoon
goooond
R:('r(l),'r(Q)) (2.63)



23. 00O 39

gobbuooggbbbouogobbbooobobbobd

A
LZ(ﬂ%) (2.64)
0ooooo
A=(™M Y)Y _rLar (2.65)
SN0 N ’ '
0oooo
A= RAL, (2.66)

0000000000000000000000£%.40) =6, 000000LR=10LO
ROODODDODOOOOODOROLOODOOOOOOO

R_ ( po po ) 7 (2.67)
—Cs  Cq
00
1 _
I <% W)) (2.68)
2CspO Cs Lo
000000000 (255 00000000000000000000
oU oU
% L raL%Y . 2.69
or 0 (2.69)

Oooo0bd ROODOOO LOO0O0O0D0O0O0O00boobooboobooboobon
gobboouogodabbbod

OLU OLU
A =0 2.70
ot + ox ’ ( )
DDDDDLU:L(p,Ux)t:WE(wl,wg)tDDDDDDDDDDDDDDDDDDDDDD

gobobooooobbboooobbbboooon

Ow ow, Owy Owy
A A R rl (2.7)

0000

t=000w000000000«w00000000 w(z,t=0)=Lu(z,t=000000
00000000000000 w(zt=0) = ww)' 0000000000000 ¢
000000000000000000

wy(x,t) = wi(z + cst, 0),
= Lu(x + ¢4t,0), (2.72)

1
— e [esp(x + ¢5t,0) — povy(z + ¢4, 0)],




40 U220 0O0d0dogobooodd

wo(x,t) = wa(r — cst, 0),

= Lu(z — ¢t, 0),

1

 2pocs

000000000 obobb0oooooobU=RWOUOOOoOooope, O0ooODOO
goodo

(2.73)

[esp(x — cst, 0) + povy(z — cst, 0)],

p(l’,t) = powl(xat) +p0w2(x7t)7

1
= 5 [csp(z + cst, 0) — povg(x + c4t, 0)]

2

1

to [csp(z — ¢st,0) + povg(x — ¢st,0)] , (2.74)
Cs

ve(x,t) = —cswy(z,t) + cswa(x,t),
1
= ——— [esp(x + ¢5t,0) — pove(z + ¢4t 0)]

2po

1
ts - [csp(z — ¢st,0) + povg(x — ¢st,0)] , (2.75)
Po
guooooooogd

2.3.2 Riemann ([

gbogobogobuogobogbboobbodbboobbuoobboooobba
gobobooooobbobooooobobbooooo

ou ou
— 4+ A =0 2.76
o T — (2.76)
O0000o0oooooooood
UL ($<O)
U(x.t=0) = 277
(0,0 = 0) {UR A (2.77)

O000000000000000 (274)0(27)0000 21000 POQODROOOOOODO

0000 p(xtcest,t =00v,(x+et,t =000 U, 0000 Uxg00000000O0O0OOO
OobDoboopPOOOOOOO o=+ 00U0U,00000000M=—-00Ux0O0

OoobooobobobQOooboooobobooobooobOo0uUu,0O00bO0D0bDUUbO RO

Ooo0obobooooooooob UugbobOobobOobooboboooo
U=RWQOOooog

2
U(SL’, t) = Z wi(‘ra t)r(l)7
i=1

2
= > wilw — Nt t = 0)r®, (2.78)
=1



23. 00O 41

| anbdal | ambda2

| anbda2

uL UR

021 00000000000000000000O000DO0O0OOOODOODOOOODAO

00000000000 -,®90 ,000000000000000000
gboobooou,0Ug0 ;000000000000 0O0ODOO

2 2
UL = Zair(i), UR = ZBZT'(Z) (279)
i=1 =1

0000002100 QO00000000UL,=a17rM4+0,r@P00000000ROOOO
D000 Ug=06rY+prP000000PO00OO0O0OOOU, =/rV+ar@P0000
O0000000000000 RemannO OO OO0O0DO0OO00O N, 000000000000
O0DAU = (B —oy)rW 00000000000 AOOODOODOOOODOOOOOAU =
(B, —a)r® 0000000 DDDOOOODODOOO

233 U0O0OOOOoooooboboO
goodooooo

O0000O000000000b00 ADODODOODODOD ;0000000 DODOO
gobbuougobbbuooobbbbooobbbuoooobboboad
gbbooooobobbbooobbboogoobbooadod

ou O u?
ataln) =0
ou ou

00000000000 ADDOOOOOO «00000000000000000000
ADDODODD0D0D0000000dAu)/de>0000000000 (convex flux)[



42 U220 0O0d0dogobooodd

u(x)

U 22 0000000000000000bb0bO00000b0oboooooobobooobd
gobboodggbobougobboooogbobbooon

gbbodgbbuoobboobbouoobbuoobbooobooboooobobboobn
gboogbbuogbbuoobooobbooobboobuoobbooboboooboobbd
gobogobogbbuogdbbobuoogobouobobuooboooboobbooobod
gbodgbbobobodbbodbbodobboobbuoobboobbooobboobbd
gobbouogoobbboooobbbuoooobooooobbbobooo

gooo

0(252)000000000000000000000O0O000O0O00O000000 pu=m

ooooooooQ
U:< p ) (2.81)

Oooooooooooooooooono
m
F = 21, 2.82
a%—i—ﬁ (2:82)
P

goboobbboodooooobobobobobbbbbddoogddt es=abbnood
gobbouggbbbooobobbbdoogobboooon

a( p 0 1 o ([ p\
D)+ (wte L) ()0 oy

goboooog



24. 00O 43

gbuogobuogbobuogbbodgbboobboboobobooobodobboobba
O00AOQOOOOOO

A= @—a:u—a, (2.84)
p

Ay = T+a:u+a, (2.85)
p

gobbooggbobouogobbboogobbbuoooooo

1 1
) _ ( ) Rt ( ) , (2.86)
u—a u+a

gobboougdaboboo

1 1 ute L
RZ(u—a u—i—a)’ L:<_ﬁ La>’ (2.87)
2a 2a

00
LAR=A, RAL=A, (2.88)

gobbooooood

24 0O0OO

00000000000 (2330)0000000000000000000000000
«>000000000000w<0000000000000000000

00000000000000000000000ug>u, 00000 ug<w, 00000
02400000000000000000«000000000000000000000
000001000 U, =u,0Ug=uzr0u, >ur0000000z<000000000
+>0000000000000000000w,00000000w;0000000000
000000000000000000230000000000000000000000
000

00000(@2u, <uwyz, 0000000 230002400000w,0wu,00000000
0000000000000 00000000000000000000000000000
000000000000000000000000000000000000000000
0000000000000 00000000000000000000000000000
00000000000

w <ur0000000000000000000000000000000 HeadDODO
000000000 Teil 00000000 «000000000000000000000
000000000000000



44 U220 0O0d0dogobooodd

\
s
T .
—
\

Rar ef acti on \Wave

iz iz

023 0000000000000000L000M0O0w, >uwg0D00000O0O0O0OODOOO
DbOoo0bo00mobbu, <uwp00O00000O0DOO0O0DOODOO0OD0O00w, U ugl
gobooobbuogbbooobuoobbuooomobboobbboobbbodn vy
U0 wpUO0O0O00OO0O0O0O0O0OOOO0O0ODODOO

—




24. 00O

12 - T T 7 T ]
i 0 16 32 48 64 80 ]
10 .
o8} ]
S 06 .
04f .
o2 ]
0.0 L 1 1 1 1 ]
0 20 40 60 80 100
X
1.005

R m———
> 0.995

0.990

0.985

o

20 40 60

80

iy
8

u

45

12

8

1.005

1.000

0.995

0.990 [esssaase

0.985

o

20 40

60

80

iy
8

024 000000000000000000MO0u, =10u; =010000000
O (t = 0.8 x[0,16,32,48,64,80]) (DO Du, = 0.10ug = 100000000 (t = 0.8 x
[0,16,32,48,64,80)0 00000 0000000000000000000000MM0Ou, =

1Hur=090000000u, =090 ug=10000



46 U220 0O0d0dogobooodd

241 0JO00OOOobDOOOOO

gbbbobooobobbuoogoobbo

oUu 3F
2.
ot 8x =0, (2.89)
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p—_— (2.141)
A3 = U+ cs, (2.142)
(2.143)

O000000000D0000000000Ou+¢,00000XM=«0000000000
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O0oOoAD0OD00000000000 6900
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2 _ 2
l —;E(%Q—D (2.145)
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OoooboboboooooooLdvooogo
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pria ;0000 £9dU T (—pcsdu + dp) =0 (2.147)
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apR p . .
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goboooooogod

for j:=0 to jm-1 do // Roe Average

begin
rhop[j]:=Sqrt(rho[jl*rho[j+1]1);
up[j]:=(Sqrt(rho[j1)*uljl+Sqrt(rho[j+1])*ulj+1])/(Sqrt(rho[j]1)+Sqrt(rho[j+1]1));
Hp[j]:=(Sqrt(rho[j1)*H[jl1+Sqrt(rho[j+1]1)*H[j+1])/(Sqrt(rho[j]1)+Sqrt(rho[j+1]1));
cpljl:=Sqrt(gami*(Hp[jl-upl[jl*upljl/2))

end;

Orhopl[jl1000 RoeO O j+41/200000000000000000 RORMA,ml OOOOOOO
R'0OLA,m] 00000wi,n2] 0 RAIR!D000000O00000000Ej1OODDOOO

for j:=0 to jm-1 do

begin
Lambda[1] :=Abs(up[jl-cpl[jl);
Lambda[2] :=Abs(up[j1);
Lambda[3] :=Abs (up[jl+cp[jl);

R[1,1]:= 1;
R[1,2]:= 1;
R[1,3]:= 1;

R[2,1]:= up[jl-cpl[jl;
R[2,2]:= upl[jl;

R[2,3]:= upl[jl+cpljl;
R[3,1]:= Hp[jl-up[jl*cpljl;
R[3,2]:= Sqr(upl[jl)/2;
R[3,3]:= Hp[jl+up[jl*cp[jl;

bl:=gami/2*Sqr(up[jl/cplil);
b2:=gam1/Sqr(cpl[jl);

L[1,1]:
L[1,2]:

0.5%(b1l+up[jl/cpljl);
-0.5%(1/cp[jl+b2*up[j]);




L[1,3]:= 0.5%b2;

L[2,1]:= 1-b1;

L[2,2]:= b2*up[j];

L[2,3]:= -b2;

L[3,1]:= 0.5%(b1-up[jl/cp[iD);
L[3,2]:= 0.5%(1/cp[jl-b2*upl[jl);
L[3,3]:= 0.5%b2;

for nl:=1 to 3 do
begin
for n2:=1 to 3 do
begin
w[ni,n2]:=0.0;
for k:=1 to 3 do
begin
wlni,n2] :=wlni,n2]+R[n1,k]*Lambdalk]*L[k,n2];
end;
end;
end;
E1[j]:=0.5%(m[j+1]+m[j]
-w[1,1]1*(rho[j+1]-rho[j1)
-wl1,2]1*(m[j+1]1-m[j])
-w[1,3]*(e[j+1]1-e[j1));
E2[j]:=0.5%(gam1*(e[j+1]+e[j])+gam3/2*(Sqr(m[j+1])/rho[j+1]1+Sqr(m[j])/rho[j])
-w[2,1]1*(rho[j+1]-rho[j1)
-wl2,2]*(m[j+1]1-m[j])
-w[2,3]1*(e[j+1]1-e[j1));
E3[j]:=0.5%(gamma*(e[j+1]*m[j+1]/rho[j+1]+e[jI1*m[j]/rho[j]1)
-gam1/2*%(Sqr(m[j+1]/rho[j+1]1)*m[j+1]1+Sqr(m[j]/rho[j1)*m[j1)
-w[3,1]1*(rho[j+1]-rho[j1)
-w[3,2]1*(m[j+1]1-m[j])
-w[3,3]1*(e[j+1]1-e[j1));
end;

gogboboobdoooogoboooobooobooboobooobooboobogo 200000

for j:=1 to jm-1 do

begin
tho[j]l:=rhol[j]l-nu*x(E1[j1-E1[j-11);
m[j]:=m[j]l-nux(E2[j1-E2[j-1]1);
e[jl:=el[j]l-nux(E3[j]1-E3[j-11);
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end;
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MO000000000000 pep =5%x107% (5/em™2000)0x =200 vey = (Vs,0,0), v =
0.0441 —0.118 (300 —800km/s), ps, = 3.56 x 1078 (T, =2x 10°K)000 0000000 Bryr =0
000 +£1.5x1074(+5nT)0 By 000000000000 D0O00 IMFO 2000000

2.4 Modified Leap-Frog 00 00O

000000000 O000000000 Modified leap-froge 000000000000 two step Lax-
Wendroff 0000000 (/—1)00 leap-frog0 0000000000000 DOOOOO¢OOOOOO
0o0ddddobodooddouoooooooooooooooooooOooOoOogooooooog
000000000 000000 ¢=8000000 OModified leap-frog 00 Otwo step Lax-Wendroff
0000000000000 00000Oleap-frog0 0000000000000 00O0O0O00OODO
000dooodooodoodooooooooooooooooDooooooooooooooa
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oooooOy¢ 0O00000OC0OODODDOOOODOODOOOODOOOOODOOOOOODODOOD
gboboobooboooooboobobooobboobooobobobboo

OModified leap-frog 00 00000000000 OOOODOOOOODODOOOOOOO0OOOOOO

= — - 13
ot or Oy 0z / (13)
(1) First step
t t
i+l gl kel = (f Lkt fhenie e T Flgene + e + Frovimo + o + fhonjonpern) (14)
itigtiktt T i+5.0+5kts i35+ 5 kL
At

SA—x(ffH,j,k + ff+1,j+1,k + ff+1,j,lc+1 + ff+1,j+1,k+1
—ff,j, — fliik = Fljper = flioinsm)

(ft]+1 kT fz+1,]+1 g+ ff i1kl T f7,+1,]+1 k+1
_fi,j, — fhoje = Flino — Fhoijes)

t
(f ikl T f7,+1,] ki1 + 1 ikl T f7,+1,]+1 k+1

—fik = Thgne — Fhjoin — Fhojon) (15)
(2) Second step
T3S ST o PR ot SR s SRR .
ix:k 8 i—5d—5k—3 it3d—5k—3 27 Jtgk—3 i3 tgk—g
t+3 t+3 t+3
2 . 16
+f7'7%7]7%7k+% +fz+ 7]7%ak+1 +fz 77]+2)k+1 +f a]+2ak+2) ( )
t+1 _ t At t+s 17
fiv '7 - i7j7k B fl,],k) ( )
JAN AR A t+1 t+1 t+1
- (f+2'71k 1‘i‘f+2+ ke 1‘i‘f+2-71k+1‘i‘f+2Jr Lyl
4Ax 7 sJ 7 sJ 29 7 27] 2 7 27] 2 2
t+3 ft+$ ft+§ ft+2
At g4l +1 +1
B (f——2+ —l+f+ +1 —l+f 2+ k+1+f+ j+1 k+1
4Ay ¢ 3J T35 ¢ 27_7 2 I T ? 27] 29 >
t+3 ft+% ft+§ ft+§
i_%mj_%:k_% i+%7j_%7k_% i_%vj_%ak"_% Z+%7]_%7k+%
At r+d + 43 e}
N (fi 7lk+1+f+ flk+l+f 19+3 k+1+ i+1,5+1 k+1
4AZ ? 7] 29 ? 2).7 2 2).7 29 ? 27] 27
t+4 t+1 t+3 t+3
— -1 1. —f . —f. . 18
LR A G A L CIE WU R TS (18)

MO0 MHDOOOOOOO two step Lax-Wendroff UOD OO 0O O0OO0DOOOO0O0OOODOODO

O1.f(4,4,k) is given for 2 <i <mnzl,2 < j <nyl and 2 < k < nzl
02.f(4,j,k) for i = 1,nz2,5 = 1,ny2, and k = 1,n22 is determined from boundary condition



(3. 1st interpolation

SO G k) + F+14oR) + f(0oj +1,8)+ [+ 1,5+ LK)

+fGk+ )+ fe+1L,5k+1)+ fE,i+1L,E+1)+ f(e+1,7+1,k+1)) (20)

p(i,j,k) =

u(i, j, k) = p(i, J, k) (21)
04. Calculation of 1st step
wij k)= ulisg ) — S A,
—Si—l;(f(i-l—lj, B+ f+1,5+1L,k)+fGE+1,5k+1)+fi+1,57+1,k+1)
—f(l,j,k)—f(l,j—i-l,k)—f(’L,j,k-l-l)—f(l,]+1,k+1))
—SAA—ty(f(i,j—i-l Ey+f(i+1L7+Lk)+fEi+LE+D)+fGi+1,j+1k+1)
—SAAtz(f(z',j,kJr D+ fe+1L5k+)+ fli,7+1L,k+1)+ fGE+1,7+1,k+1)
f,5,k) — fli+1,5,k) — (5,7 + Lk) — fi + 1,5 + 1, k)) (22)

5. 2nd interpolation

1
+U(IL - ]-7.7 - 17k) +u(27] - 17k) +U(Z - 17]7 k) +u(27]7 k)) (23)

6. Calculation of 2nd step

At . .. .. ..
—m(u(z,],k)+u(z,]—1,k)+u(z,],k—1)+u(z,]—1,k—1)

At
_ .. 1 k1 1 ik —1
—4Ay(U(z,J,k)+U(z k) +uli gk —1) +u(i— 1,5,k —1)
—U(’i,j—l,k)—U(i—l,j—l,k)—U(i,j—l,k—l)—U(i—l,j—l,k—l))
At

_E(u(zajak) +U(Z - 17]7k) +u(27] - 17k) +U(Z - 17] - 17k)

—u(i, gk —1) —u(i—1,5,k—1) —u(i,j —L,Lk—1) —u(i — 1, — 1,k — 1)) (24)

MO000000000u(i,g,k) =p(i,7.k) 00000 two step Lax-Wendroff 00 0 00 O w(i, 7, k)
oo ooooooooooooooo %AtDD At000000 OLeap-frog O
0 0 O OModified leap-frog 00 00 O 0O two-step Lax-Wendroff 0 DO 00 O (/—1) OO Leap-frog
00o00oooooobboooooooo O

moooooo

ou , ou
ot or



0000 OModified leap-frogc 0 0000000000000
0000000 u! =u(z,t)), ugfllzu(xi:l:Ax,tj:l:At)DDDDDDDDDD

uz — ,u%eik:v’ “‘Zﬂ — ugeik(:v:tA:v) — uge:tkAx = uge:l:in (26)

00000 Otwo step Lax-Wendroff 00000 A =/ /u/ 0 D
Aopw = 1 +idsink + 6 (cosk — 1) (27)
|[Aopw |2 = 1+ (6 — 6%)(cosk — 1)? (28)

O00000000<0=At/Az<10000000 k=kA2z0000 |AeLw|<1000000O
oooooooo
leap-frog O O

1 K K
Alp=H/1+ 5252'77,25 — i5sin§ (29)

O000|Aw|=1000000000000000
000 OModified leap-frog 00 0000000 O0O00O0O0O0O

Aypw = Agpw /P A1/ (30)

Modified leap-frog 00 MLF [ 2 step Lax-Wendroff 00 2LWDO OO Runge-Kutta-GillO (RKG) O
000000000 Db0o00b00ObOD00O0bO0OU0b0OUOOo/00DODOODOO Modified leap-frog O
OMLFOODOOOODOOODOOOOOOOOO0OODOOOODDODOOOModified leap-frog 00 OO
goodboobbobbootbooooooobobbobooboooogoo

Modified leap-frog O O two step Lax-Wendroff 0 00 leap-frog0 00 00000000000 ODOO
0000 oooooooooooooooOoooooo0oo0 MED OOOODOOOOODOOOOOoO
bbb bbb oooobooooooooooon
0odoooooooooooooobobooobobooooubobobooo oouobouooon
00 000 modified leap-frog0 00 000000000000 OOODOOO0OO0OODOODOOO two
step Lax-Wendroff 000 OO0 00000000 0ODOODOODOOODODODODOO Omodified leap-frog O
0000000000000 0D0O00000000000D0O000000000dleap-frogdd0 00
ogo0ooodooooboooboooobobobboiooodogdooooooooooon
Ooooogd leap-frog0 00 000O0ODOOOO0OODOOOODOOOOOOODODODOODO

3 MPIOOOOOOOO MHDOOO

1995 00O Fujitsu VPPOOD O DODOODOODODOOOODODODODODOO0ODLOOODOODOODbObOObOOoD
MHDOOOOOODDOOODOODUOODOoOooODbOoooooobooboo MEDDOOO earthbOO
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0000000000000 0D0O00000 MEDOODO O pearthbhO000OO00O [0 O 0O1997]000
00200000000 MEDO OO O VPP FortranO O HPF/JAO OO OO OO hearthbO [0 O O2000;
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Ogino, 2002|000 0000 0HPF/JAODODOOOO MHDO OO O hearthbOO VPP Fortran O 0 O
OMHDOOOOOOOOOOOOOO0O0O0O0000000000000000 VPP Fortran 00
000000000000 0VPP FortranOO OHPF/JAOOOOOOOODO MEDOODOOOOO
gbo00O0ooooooo0o0ooooboO0b0OMHEHDOOOOearthbOOOOOOOO0OOOO0O0O0COOO
O000000000MHDOOOOOOOOO0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0OO0OO0OOOO
MHDOOOOOOOOOOOOOOOO0O0OOO000000000000000000O00000A0
oooooooMHDOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOO
00000000000000000000000 (00 02000; Ogino, 20020

0200200 00000000000000 HPF/JAOO MPIOO VPP FortranOO MPIOO OO
goooooMPIODODODODOOODOODODODOODOODOOMEDOUOOO meartbUD OOOO
O00000000000000OVPP FortranO HPF/JADO MHDO OO OOOOOOOOOOOO
0000000000000 00000O0VPP Fortrand HPF/JAOODOOOOOOOOODOOOO
ooooMHDOOODOOOOODODOOO MPIOOO FortranOOOODDOOODODOOODODOOO
goboooboobobbbdoobuoobbboooboobooobobooobbobooboooa
ooooooooooMPIDOODODODDOOOODOO MPIDOOODOODOOODODODOOOO
gdg

ooboobooooobobooboobobobobobbbboboboooooooobobooboobon
oo0o0ooooooDbDbboOoOb0bObO0bDbObOOo0OUbOOOb0DoUOOnD PEI Processing Element [
gbooogoboobobooooobooboooogo cooogobbooboooboboooDbo
gobbogobooooboouobooooooobobobobooooooobobobbboboboonoon
oo0obooOOooOOO00ObOOO0bOo0o0oob0O0 doroopd OO OoOOOoOoOooOoOoODOODOO
OO0000DDO00D0O0O0O doroopl O OOODOOOOOOOODODOOMODOOOODOOO
OdoroopUlOD0OO0ODDOOOOOODODODODOODOODODOODOODODDDDODOON00
ugoboooobobobuobuooboobobooooooobboobbbobbobooobobog
gbobogoboboooogbbobbobbobooboggboboooooooobboooobon
goooboobooooobooooooobooob oo oooobLo0oUU PEO
gbobooboabooboobooboboooobobooobobbobooooobobooboobobon
guobogooogbboboobboouooboobobbooboboooboobbobobobbobooaon
gooboooobooooboooboobooooboobobbbobooboobooobooon
ggboouboooooogobobobbooobobooooboboboobooobobooboobon

MOo0000000000000O0 MEDOOO VPP Fortrand pearthbJ HPF/JAO hearthb OO
MPIO meartb00 000000000000 0000000 FortranO OOOO0O0OOOO0O0O0ODOO
0000000000000 0000000O0OO00O0ooOOOvVPP FortranOHPF/JAOMPIO OO
oo0oooooo0oooooooooobooboooooOoOO00ooooObobOO0oOoOoO0oboDOOoO0ODOooOon
ogoooooooooooboooOoOobOOoOooOoOoooobOboOooOoOOoOOObOOOOoboODOboObO
oO0obDooODoO0o0O0oooooOoOOooOoooOoOOoOOO0bOO0O0DOOODOODOOO0ObOObDOOOoobOBbO
ooooooooooMpPIDOODODOOODODOOOOOOOOOOOODOOOODOOOOOODODOO
coooobooooooooMPIOODOOOOOOOOOOOOOOOOOOOOOOOOOOO0
oooOoooOooDooOOoDOoOo

10



3.1 MPIOOOMHDUOOOOOOOODOOO

MPIO Message Passing Interface00 0 000000000 OODOOOODOOOOODOOOOOO
oooooooooboOooobODODOO0 oMPIOOODOOOODOOOOODODOODOCODOOO
oooooooomoooooboooooooboooooooooboooboooDbbooboooboDoo
goooooooobobooobooboboooboobobooboooboooooomboboobb oo
ooooooogoboboioobbob0o0oooobobbo0o0ogobobUoUuUUgg PED Processing
Element0O0 0O D0OO0OD0OOCODOO

MOooOOMPIDODOMHDOOOODODOOODODDODOODOODODDOODDODOODODOOOOMPIOO
0000000000 mearthh OO OOOO0O0ODODO FortranO OO DOOODOOOODODOOODOOO
Ooooooood

Omearthb_send.f O MO OO0O0O0O OO mpisendd mpirecv 0 OO

Omearthb.isend.f O OO0 O0O0O0O00O OO mpidsend D mpidrecv0 0000000

000 MEHDOOOOOHPF/JAOO MPIOOOOOOOOOOMpf$ 00000 HPF/JAOODO
0000000 O00oooooMPIODOOODDOODOODOOOOODOOO0OOOOOOOMPIODOOO
OO0000DoDooOoOoocCMPI STARTO CCMPIENDODODODOOODODODDOODODODOO
mearthb_send.fO0 00000 O

M O0000000O0OModified leap-frog0 0000000k (z) 000000000000 OOOO
oOood0ooOOoOO000OOoU000boU00obD0oOoOO0oO00UobDOoOoOobO0U0oDOobObOOOoDOoOoDoOoo
U 00O O 0OPED Processing Element 00 0 npe=20 Uisizel PEQO Dirank 000 OO0 PEOODOO
O000D0OOisize=npe=20irank=0,10000ks0O ke irank 00000 kOOOOOOOOODO
O00irank000000O0 k=klocal O ODODOODO k=k_global 0 OO0 Ok_global=k_local+kss [ [J
000000000k (z00000000OODO0OOOOOOOODODOODOOOOCOD

O 0Ok=1,nz2 0O 0> Ok=ks,ke
0 0Ok=1,nz2-1 > Ok=ks,kel
0 Ok=2,nz2-1 O> Ok=ksl,kel

OO0 0000 Orecveount O displs gather D0 0D OO0 OO0 ODODOODOOOOOOOOOOOO
oooooooo

CC MPI START

include ’mpif.h’

integer istatus(mpi_status_size)

common /para_info/ks,ksl,ke,kel,kss,irank,isize
¢ for mpi_gatherv

parameter (npe=2)

integer recvcount (npe),displs(npe)
CC MPI END

Moodboobbooboooboooooobooobooobob o000 0ob0U00g ko O
OoooOoU0bobo0o0oobotdb ke-l0000D0DOOODOOODOODUODOD koODODODOODOO
gobbooooobbobobobbobobbooooob oo ooooooobooooDon
0000000000000 0000 Oko=nzz=(nz2-1)/npe+100000000000000O0O0O
nz2=nz+20 000000k (z) 0000000000000 0O0O0O0O0OOO0OOOOOO0O PEODOO
Ok(z00O00D0DDO0O0OO k=(0nzz+1) 0000000000 nzz4+20 000000000000
0 Ofg(nx2ny2mz2) 00000 read 0 write 0000 000000000000
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CC MPI START
parameter (nzz=(nz2-1) /npe+1)
dimension f(nx2,ny2,0:nzz+1,nb),u(nx2,ny2,0:nzz+1,nb),
ff(nx2,ny2,0:nzz+1,nb) ,p(nx2,ny2,0:nzz+1,nbb),
pp(nx2,ny2,0:nzz+1,3)
¢ for all_gather
dimension fg(nx2,ny2,nz2)
CC MPI END

MoO0000o00000000o0oooooooooboo0oooonOgnoOn Oisize d irank

0 O O O Oks,ke,kss,recvcount(npe),displs(npe) 0 00 000 0O O Orecveount(npe) 0 000000 0O
mpigather 100000000000 DODO0OOO0OOOO0OO0O0ODODOOODODODODOOODDOOO
OMPIOOODODOOOOOOOOOOOOOOOOOOOOOOO

CC MPI START
call mpi_init(ier)
call mpi_comm_rank(mpi_comm_world,irank,ier)

call mpi_comm_size(mpi_comm_world,isize,ier)

kk=nz2/isize
kmod=mod (nz2,isize)

ks=1
kss=irank*kk+min (kmod,irank)

if (irank.lt.kmod) kk=kk+1
ke=ks+kk-1

ksl=ks

kel=ke

if (irank.eq.0) ks1=2

if (irank.eq.isize-1) kel=ke-1

nword=(ke-ks+1) *nx2*ny2
call mpi_gather(nword,1,mpi_integer,recvcount,
* 1,mpi_integer,0,mpi_comm_world,ier)
displs(1)=0
do i=2,isize
displs(i)=displs(i-1)+recvcount(i-1)
end do
c
CC MPI END

MO0 boobboooboboboOd read0write DO OD00O00O0O0ODODO irank=000000000
gboboogooo

CC MPI START
if (irank.eq.0) then
open(11,file=’./school/mearthb/meart01l.data’,
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1 access=’sequential’,form=’unformatted’)
end if
CC MPI END

CC MPI START
if (irank.eq.0)
* write (6,12) iii,last,nx,ny,nz,nl,n2,n3,n4,n5,n6,eat0,rmu0,aru,
1 eud,rrat,hx,hy,hz,t,t1,ro01,pr01,gra,dx2,dy2,dz2,dx4,dy4,dz4,
2 bis, (cp(i),i=1,11),(cj(j),j=1,10)
CC MPI END

MO0k (z)0000000000000000k (00000000000 k=1,nz22000000
D000 k=kske0 000 DOOOOOOOOO

CC MPI START
do 22 k=ks,ke
CC MPI END

MO00000DOO0ODO0O0DO00000Oirankd ksOOOODO irank-10 mpisendd 00000
0000 irank+100 irank 0 ke+1 0000000000000 0O0OO00OOD0OO0OOOO0OO PEDO
OO0 Ompibarrier 0 000 OO0OO0DOOO0O

CC MPI START
do m=1,nb
len=nx2*ny2
if (irank.gt.0) then
call mpi_send(f(1,1,ks,m),n2,mpi_real,irank-1,
& 100,mpi_comm_world,ier)
end if
if (irank.lt.isize-1) then
call mpi_recv(f(1,1,ke+l,m),n2,mpi_real,irank+1,
& 100,mpi_comm_world,istatus,ier)
end if
end do
call mpi_barrier (mpi_comm_world,ier)
CC MPI END

MO Ompigatherv OO OO DO irank=00 00000 Dirank=00 00 0000000000000
000000000 mpibarrier 000000000 ODOO

do 173 m=1,nb
CC MPI START
C do m=1,nb
call mpi_barrier (mpi_comm_world,ier)
call mpi_gatherv(£(1,1,1,m),nword,mpi_real,fg(1,1,1),
* recvcount,displs,mpi_real,O,
* mpi_comm_world,ier)
c end do

call mpi_barrier(mpi_comm_world,ier)
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CC MPI END
CC MPI START
if (irank.eq.0) then
CC MPI END
do 1732 k=1,nz2
write(ntap) fg(1:nx2,1:ny2,k)
1732 continue
CC MPI START
end if
CC MPI END
173 continue

MooMHDOOOOOOOODOOO0OO0O0O0O0o0oooooooooooboobooooooDoDo
gbooooboboboooooobobob0bOvmaxD ODDO0DO0OO0ODODODODOODOODOODOO
OOo0Oo000o0ooooooDbobObb00o0dd vmaxOO OO O Ompiallreduce0 000 O

CC MPI START
call mpi_allreduce(vmax,vmaxl,1,mpi_real ,mpi_max,
* mpi_comm_world,ier)
vmax=vmax1l
CC MPI END

MO000000000HPF/JAOOOOOOO MPIODOOOODOOOOCCMPISTARTO CC MPI
ENDOODOOOOOOOoooboooobobobbobboooobobbobobobobobonoobooboog
Uo0b0O0b0OooOvVPP Fortran0O0O MPIDOODOOOOOODOOOOOODOOOOOODOOMPIOOOO
ooobobooMEDODOODODOODOODODODDOOODODOOODbODbOOOoobbDObOOobDooOoDbOoOo D
gobobooooooooooooobooobooboobobbooobobooboboobooon
gooooooobooooobboboobboboooMHEDODOUOOODODODODOODODDOO
goobooooogooooood

3.2 MPIODOOOOOODOOOOO

MPIOOOOOOOODOOOOOOOOODOOOOOOOOO0OOO0O0OO0OO0D0Od readd write
goboooooobooobo

()ooooooooooooo

0000000 0000ooooooogn birank-10 ksOO OO0 irank4+10 ke+10 mpi-sendrecv
gobob0oboooboobobobooobo oo Do obOoobObOoooOooOoObOboOoDOoOo
00 doODOOOOOODODOOODODOODOOODOOOOOODODODO Ompisendd mpi-recvd 00O
000000000000 0D0000000D000000000000D0DODOO0O0DODODOO00O0
ooooboobooobooooo

CC MPI START
iright
ileft

irank + 1

irank - 1
if (irank.eq.0) then
ileft = MPI_PROC_NULL
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else if(irank.eq.isize-1) then
iright = MPI_PROC_NULL

end if
do m=1,nb
call mpi_sendrecv(f(1,1,ks,m),n2,mpi_real,ileft,100,
& f(1,1,ke+1,m) ,n2,mpi_real,iright, 100,
& mpi_comm_world,istatus,ier)
end do
CC MPI END

(2) 000000000000

MOO00000 0000000 mpijsendd mpirecvDd 0000000 0000000000 mpiisend

0 mpisireecv] J00000000000000000000000000000000000 mearthb.isend.f
00000000000000000000000000000000000 mpi-isendd 00 mpi_irecy
0000000000000000000 mpiwait0000000000000000000000
000000000000000000000000000000000000000000000
0000000000000

3)D0o0oooo
MOo0000b0000O000000000d PEQirank=isize-10 k=ke-1 00 O0000OD0OO0O PED
irank=00 k=ks DO 000 OOO0O0O0OCOO0ODO PEQOirank=00 k=ks+1 00000000 PEO
irank=isize-10 k=ke OO0 0000000 OO0ODOOCOOOO0OODOOOOQO Modified leap-frog O
OOooDOo0O0ooOoOooDbooOoDboOoDODD OO0 mwave D mwaved.f.send O mwave3.f.isend O
ooooooooo

CC MPI START
if (irank.eq.isize-1) then
call mpi_send(£f(1,1,ke-1,m),n2,mpi_real,O,
& 110,mpi_comm_world,ier)
elseif (irank.eq.0) then
call mpi_recv(f(1,1,ks,m),n2,mpi_real,isize-1,
& 110,mpi_comm_world,istatus,ier)
end if

if (irank.eq.0) then
call mpi_send(f(1,1,ks+1,m),n2,mpi_real,isize-1,
& 115 ,mpi_comm_world,ier)
elseif (irank.eq.isize-1) then
call mpi_recv(f(1,1,ke,m),n2,mpi_real,O,
& 115,mpi_comm_world,istatus,ier)
end if
call mpi_barrier(mpi_comm_world,ier)
CC MPI END

(4) 00000000 MPIDODOOOO
0000000000 k(z 0000000000 0O0ODOOODDOODOOOOO MPIDODOOOODO
00oooooboooobobobbbO0bUOnz2=nz+20nz3=nzt30 00 M 00000000
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0000 mpigatherv irank=00 000000000000 mpiscattervO O PEOOOOOOO
oo0oooooo

do k=1,nz2
f(2:nx1,1,k,1:nb) = £(2:nx1,2,-k+nz3,1:nb)
end do

(5) read0 write D 000000000 DOOOO

MO00000000 MHDO OO mearthbsendfO00 D0 0000000000 fg(nx2,ny2,nz2) 0
0000 OmpigathervO0 O OO0 irank=0000000 Oirank=0000000000000000O
uboagobuobuougobouboooobogbooboboobobboobboboboboobdooagn
000000000000 D000 irank=00 fg(nx2ny2,nz2) 000000000000 Oirank=00
gooboooboobooooboboooMEDOOODOODOOOOOOOOOODODOODODO
gogobooooooboobbooooboobobbooboooooobooobbboobo
fg0 00000000000 irank=00000000000000000DOOOOOCOOOOO0OOO
gdooprPEODOOOODOOOODOODOODOOOOOODODOODOOOODOOODODOODDODOOO
goboooboooboboobon

(6) MPIODOOOOOOOO00OO

MoooooooboooMPIODD OO OODOODOODODOODOODODOOOODODODOOOoDOoOoOOon
VPP Fortran0 HPF/JAO OOOUOOOOOOOOOOOOOOOOOOOOOOOOOOOOOO
goobgobuoobbbooodooouobooo oo boob oo bbooobboo
goooooooooooMPIDOOOODOODOOOODODODODOODO0OOOoODOobODOooDOooDOoboOooo
gobdgbbbooddouooouuboo bbb oo oo buooboob oo
oooooooooobooboobbooooMPID OO0 oOooDoooOooonD MPIOOO
0000b00o0ooooo0boo0o0b0b0bo0o000Db0ob000b000DOoDO0bO0O0OdD Homepage
O http://center.stelab.nagoya-u.ac.jp/kaken/kakenhi.html00 000 OO0 00000000 OOO0OO
gobooooobooobobboogonb o

3.3 Uudgobgodg

oo MHEHDOOOOOOUOODOobOOooooooooooboboooooooooooooooooo
gooogboobobobogoobooboooobbboboooboboboboooooDog
0000 MHDOOO O SUNO VPP-50000 VP Fortran, VPP Fortran, HPF/JA, MPIOO 0 OO O
0000000000 DO00O0DDOO secOO OModified leap-froge00000000O0O0DOOODO
0000000000000 0SUND GR72000 000 0VPP50002PE)000O0OOO 70000
goobooboobbooooooboobboboboooboooboobboboMHEDODDODOODOODO
000000000000000000O0SUND GR72000 0 2000 OVPP5000(2PE,MPT) O O 20
goobobboobbobgooobborPE0ODOOOOOOOOOOOOOOODn

000ooO0o0oo0o0oo0 1/400000000000000O00O00OO0DODOOODOD
00000000 0earthhO0 0000 (nx,ny,nz)=(180,60,60)

Table 1. Comparison of computer processing capability of 3-dimensional global

MHD code with a quarter volume: earthb with (nx,ny,nz)=(180,60,60).



Computer Processing Capability
A Quarter Model of the Earth’s Magnetosphere (nx,ny,nz)=(180,60,60); earthb

computer number of PEs compiler sec  (MFLOPS) GF/PE (date)

Fujitsu GR720 (1PE) Fortran 90 (frt) 7.72998 ( 136) 0.14 (2002.08.01)
Fujitsu VPP-5000 (1PE) VP Fortran 0.19342 ( 5,428) 5.43 (2002.08.01)
Fujitsu VPP-5000 (2PE) VPP Fortran 0.10509 ( 9,990) 5.00 (2002.08.01)
Fujitsu VPP-5000 (2PE) HPF/JA 0.11064 ( 9,489) 4.74 (2002.08.01)
Fujitsu VPP-5000 (2PE) MPI 0.09899 ( 10,606) 5.30 (2002.08.01)
Fujitsu VPP-5000 (2PE) MPI (isend) 0.09774 ( 10,797) 5.40 (2002.08.08)

frt: Fujitsu VPP Fortran 90 HPF: High Performance Fortran

MPI; Massage Passing Interface

: MFLOPS is an estimated value in comparison with the computation by
1 processor of CRAY Y-MP C90.

MO00000000000000O0VPP FortranO HPF/JAO MPIDOOOOOOOOOOOO
00000000 MHD OO0 000 Fujitsu VPP5000/640000000000000000OVPP
Fortran, HPF/JAOO MPIOOOOOOOOOCOOOOODOOOOOOOOOOODOOOODOOO
O0000O00O0OMHDOOOOOODOOODODOOOODOOOOOOOOOOVPP FortranO HPF/JA
00000000 400 Gllops 00O DOOO0ODOOOO0OODOOOOOOOOOOOOOOOOOO PC
ggobboobooouodooobobooobooboboobobbooobboboooboboobbooyg
gobooboboodogd

[0 000 800x200x478, 800x200x670000 0 00000000 OO0OO0OO00O0OOOOOOOMPI
gboobuobobbooooaooooboboboooobobooobboboboboobbboon
OOMPIFortranO OO OO0 0000000 O0O0ODOO0O0OO0O0ODOOOOO0OO0OO0O0O0O0OODOO
goobooooboooobbbo0ooooobobooooooboboob0og MPT Fortran O OO
obooboobobuooobooboboogbooo vepoooooboboooooooMPIDODODODO
gboogogooobobooboboooboooobobobooboboobobooboobbbooobbooon
00000000 HomepageJO OOOOO0OOOOVPP Fortrand HPF/JADODO cpuO0 00000
goobobobbbooobboMPIDO ecpubO0oo0oooboooooooobooooooD
goobooobooobobooooMrPIODODODOOOOOoOoooobobbOobDOooobobobbOOobOO
gboobogooooobooobooMPIOODOOOOOOOO0OO0OO0ODOOO0ODLOOOO0ODLDOOO0OOO0OMPI
gooooooooobooooogobbooobobogoooboboooo MPIDDODOOODUOOODO
gbobooobooon

000 VPP Fortran 0 HPF/JAO MPID OOOOOOOOOOOOOOOOOOOO MHD OOO
000 Fujitsu VPP5000/64 000000000

Table 2. Comparison of computer processing capability between VPP Fortran and HPF/JA and MPI
in a 3-dimensional global MHD code of the solar wind-magnetosphere interaction by using Fujitsu
VPP5000/64.

Number Number of VPP Fortran HPF/JA MPI
of PE grids cpu time Gflops Gf/PE cpu time Gflops Gf/PE cpu time Gflops Gf/PE
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1PE 200x100x478 119.607 ( 0.17) 0.17 (scalar)

1PE 200x100x478 2.967 ( 6.88) 6.88 3.002 ( 6.80) 6.80

2PE 200x100x478 1.458 ( 14.01) 7.00 1.535 ( 13.30) 6.65 1.444 ( 14.14) 7.07
4PE 200x100x478 0.721 ( 28.32) 7.08 0.761 ( 26.85) 6.71 0.714 ( 28.60) 7.15
8PE 200x100x478 0.365 ( 55.89) 6.99 0.386 ( 52.92) 6.62 0.361 ( 56.55) 7.07
16PE 200x100x478 0.205 ( 99.38) 6.21 0.219 ( 93.39) 5.84 0.191 (107.19) 6.70
24PE 200x100x478 0.141 (144.49) 6.02 0.143 (143.02) 5.96 0.1302(157.24) 6.55
32PE 200x100x478 0.107 (191.23) 5.98 0.110 (186.13) 5.82 0.1011(202.50) 6.33
48PE 200x100x478 0.069 (297.96) 6.21 0.074 (276.96) 5.77 0.0679(301.51) 6.28
56PE 200x100x478 0.064 (319.53) 5.71 0.068 (299.27) 5.34 0.0639(320.39) 5.72
64PE 200x100x478 0.0662(308.91) 4.83 0.0627(324.57) 5.07 0.0569(359.80) 5.62
1PE 500x100x200 2.691 ( 7.94) 7.94 2.691 ( 7.94) 7.94

2PE 500x100x200 1.381 ( 15.47) 7.73 1.390 ( 15.37) 7.68 1.355 ( 15.77) 7.89
4PE 500x100x200 0.715 ( 29.97) 7.47 0.712 ( 29.99) 7.50 0.688 ( 31.03) 7.76
8PE 500x100x200 0.398 ( 53.65) 6.71 0.393 ( 54.38) 6.80 0.372 ( 57.50) 7.19
16PE 500x100x200 0.210 (101.87) 6.37 0.202 (105.74) 6.61 0.193 (110.70) 6.92
24PE 500x100x200 0.160 (133.70) 5.57 0.150 (142.40) 5.93 0.135 (158.26) 6.59
32PE 500x100x200 0.131 (163.55) 5.11 0.120 (175.50) 5.48 0.1084(197.10) 6.15
48PE 500x100x200 0.100 (214.48) 4.46 0.091 (231.69) 4.82 0.0811(263.44) 5.49
56PE 500x100x200 0.089 (239.48) 4.28 0.086 (244.85) 4.37 0.0688(310.54) 5.55
64PE 500x100x200 0.0956(222.95) 3.48 0.0844(249.49) 3.90 0.0687(310.99) 4.86
2PE 800x200x478 10.659 ( 15.33) 7.66 10.742 ( 15.21) 7.60 10.428 ( 15.67) 7.83
4PE 800x200x478 5.351 ( 30.53) 7.63 5.354 ( 30.52) 7.63 5.223 ( 31.28) 7.82
8PE 800x200x478 2.738 ( 59.67) 7.46 2.730 ( 59.85) 7.48 2.696 ( 60.61) 7.58
12PE 800x200x478 1.865 ( 87.58) 7.30 1.911 ( 85.49) 7.12 1.771 ( 92.25) 7.68
16PE 800x200x478 1.419 (115.12) 7.19 1.389 (117.66) 7.35 1.342 (121.81) 7.61
24PE 800x200x478 0.975 (167.54) 6.98 0.976 (167.45) 6.98 0.905 (180.59) 7.52
32PE 800x200x478 0.722 (226.33) 7.07 0.717 (227.72) 7.12 0.690 (236.63) 7.39
48PE 800x200x478 0.534 (305.70) 6.36 0.515 (317.26) 6.61 0.469 (348.38) 7.25
56PE 800x200x478 0.494 (330.95) 5.91 0.464 (352.49) 6.29 0.433 (377.73) 7.74
64PE 800x200x478 0.465 (351.59) 5.49 0.438 (373.41) 5.83 0.389 (420.45) 6.57
4PE 800x200x670 7.618 ( 30.06) 7.52 8.001 ( 28.62) 7.16 7.433 ( 30.81) 7.70
8PE 800x200x670 3.794 ( 60.36) 7.54 3.962 ( 57.81) 7.23 3.683 ( 62.17) 7.77
12PE 800x200x670 2.806 ( 81.61) 6.80 3.005 ( 76.21) 6.35 2.696 ( 84.95) 7.08
16PE 800x200x670 1.924 (119.00) 7.44 2.012 (113.85) 7.12 1.854 (123.53) 7.72
24PE 800x200x670 1.308 (175.10) 7.30 1.360 (168.44) 7.02 1.254 (182.61) 7.60
32PE 800x200x670 0.979 (233.85) 7.31 1.032 (221.88) 6.93 0.955 (239.77) 7.49
48PE 800x200x670 0.682 (335.62) 6.99 0.721 (317.80) 6.62 0.662 (346.21) 7.21
B6PE 800x200x670 0.595 (384.61) 6.87 0.628 (364.87) 6.52 0.572 (400.59) 7.15
16PE 1000x500x1118 9.668 (123.52) 7.72 9.619 (125.50) 7.84

32PE 1000x500x1118 5.044 (236.73) 7.40 4.992 (241.83) 7.56
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48PE 1000x500x1118 3.550 (336.40) 7.01 3.479 (346.97) 7.23
B56PE 1000x500x1118 2.985 (400.04) 7.14 2.935 (411.36) 7.35
32PE 1000x1000x1118 9.979 (239.33) 7.48 9.813 (243.37) 7.61
48PE 1000x1000x1118 7.177 (332.79) 6.93 7.028 (339.85) 7.08
B56PE 1000x1000x1118 5.817 (410.55) 7.33 5.794 (412.23) 7.36
: Mflops is an estimated value in comparison with the computation by
1 processor of CRAY Y-MP C90.

4 00O0O0OOODODOOOOOOO0OMHDOOODDOO

00000000000 00O0 1Y/4000000000000D0O0DODOOOOOOOOOO MHD
00OoD0O00OOo0obOOoOoooOOoOoOOO0bOO0OO0bO00OO00OgOoOUoooobDOoooboboboOD
0000000000000 0000000000 earthb10.f0000 O VPP Fortran, HPF/JA OO
MpPIODOOOOOOOOoDOOODODOOOMEDOOOODOODODOODOOODDODOOOOO
PostScript 00 00 000000000000 O0OOOOOOOO VRML (Virtual Reality Modeling
Language) 0000 300000000000000000O00O0OO

4.1 0O0O0OD0OO0OOOOOO

00000000000 MHDO OO earthb(earthb10.f) 0 0000000000000 O0OOOO
obooboooooooobooboboMEDDOODODOOOOOODOOOOOOODOOOD

main program : earthblO.f
earthbl0.f wusing modified leap-frog scheme
3D MHD simulation of 1/4 earth’s magnetosphere
Cartesian coordinate finite resistivity 45 degree boundary

(nx,ny,nz)=(180,60,60) : grid number without boundary

nxp=30 : parameter to determine earth position
last=1024 : number of time steps

11q0=8 : a unit of modified leap-frog scheme
1ip0= 32 : adjust upstream boundary condition
iis0= 1024 : sampling step of data

thx=4.00 : parameter to adjust time step

(x1,y1,21)=(90.5,30.5,30.5)Re: length in each direction

hx=x1/float (nx+1)=0.5Re : grid interval in x direction

hy=yl/float (ny+1)=0.5Re : grid interval in y direction

hz=z1/float (nz+1)=0.5Re : grid interval in z direction

t=0.5*hx*thx : time interval

t(real)=t*ts : real time to one time step advance
=0.5%0.5%4.00%0.937 : ts is normalization value in time
=0.937 sec
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x=0.5xhx*float (2#i-nx2-1+2*nxp) : x position versus grid number
y=0.5*hy*float (2*j-3) : y position versus grid number
z=0.5%hz*float (2*¥k-3) : z position versus grid number

where nx2=nx+2, ny2=ny+2 and nz2=nz+2

ro01=5.0E-4 (5/cc) : mass density of solar wind
pr01=3.56E-8 : pressure of solar wind
vsw=0.044  (300km/s) : speed of solar wind
bis=CP(11)=1.5E-4 (5nT) : amplitude of IMF

eatt : resistivity

rmuu : viscosity

eud0 : friction or collision term

1-dimensional array variable f(il)=f(i,j,k,m)

nl=nx+2,n2=nl*(ny+2) ,n3=n2*(nz+2)
nb=8,nbb=11,n4=n3*nb,n5=n3*nbb

il=i+n1*(j-1)+n2x*(k-1)+n3*(m-1)

m=1 : rho, plasma density

m=2 : Vx, x—component of velocity

m=3 : Vy, y—component of velocity
=4 : Vz, z-component of velocity

m=5 : P, plasma pressure

m=6 : Bx, x-component of magnetic field

m=7 : By, y-component of magnetic field
=8 : Bz, z-component of magnetic field

4.2 00000

O0000000000 MHDO OO earthb(earthb10.f) 00000000000 MEHDOOOO
MPI(mearthb) 0 HPF /JA (hearthb) 0 VPP Fortran(peartb) D D 000000000000 O0O0OOO
0000 MHDOOODDDOOODOOOOoOooDOooOooooOoooooooooooooobbooo
O000000Db0O0O0Oreadmed 0 000OCO0O0ODOOO

4.2.1. <<execution of main program>>
1. £77 -0 earthbl0.f
2. a.out &
where file must be defined in open statement like

c open(10,file=’earthbl0.data’,
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c 1 access=’sequential’,form=’unformatted’)
open(11l,file=’earthbll.data’,
1 access=’sequential’,form=’unformatted’)
c
or
1. £77 -0 earthbl0 -0 earthbl0.f
2. earthbl0 &

4.2.2. <<compile and execution using by supercomputer, Fujitsu VPP5000>>

(1) MPI (Massage Passing Interface): mearthb
All the comand shells are in "readme" file.
(1a) TSS
mpifrt progmpi.f :compile to make execution file, a.out
jobexec -vp 2 ~/school/mearthb/a.out :execution of a.out by 2 PEs
(1b) Batch
gsub -q ¢ -eo -o pconpmpi2.out pcompmpi2.sh :compile
gsub mpi_limO2e.sh :execution of progmpi by 2 PEs

(2) HPF/JA (High Performance Fortran): hearthb
qsub -q ¢ -eo -o pconphpf2.out pcomphpf2.sh :compile
gqsub -q z -eo -1Pv 2 -o pexechpf.out pexechpf.sh :execution by 2 PEs

qsub -q ¢ -eo -o comp.out comp.sh :compile vector mode only
gqsub -g x -eo -o exec.out exec.sh :execution by 1 PE

(3) VPP Fortran (Fortran 90): pearthb
qsub -q ¢ -eo -o pcomp90.out pcomp90.sh :compile
gqsub -q z -eo -1Pv 2 -0 pexec90.out pexec90.sh :execution by 2 PEs

4.3 0000

gboobobbogooboboooboboooboobboobobbobobobobobo
gogoboobooboobboboboobobbodbod
ggoguoooboogbuoobobobobobogod
goboooobobooogooooobobobobobooboon

bdogogoubooboboobouobobobobbobobooobobobooboboobbooboonoon
gbgoboboobogobobooboboouodbouoooboobobbobuobooobaonoon
0000000000000 0D000QOFortrand00D0O0O0 PostScrippDO000D0O00OOOODOO
vboobooobooboboooboobaobbobbobobobobuouobobouooboobbobo

gbobobobbobbooboobdooboooubbooooouoobooogagyd

()DO00OO0O0O000OD0O0O0O0 IEEE BinaryD OO OO
(2) Fortran0 00 000 PostScript 0 000 00000000
PostScript 00 000000000 OO Interface Subroutine Package O O O
(3) PostScript 00 00000000000 DOO0Oxv, pstogif 00 OO O0OOOO
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OO000000ef00000OO
(4)000000000gif000D000ODOOODO

MOo0O000d000Fertran0 000 00000000000 OOO0OOOOOOOOOOOOODOO
000000 PostScript D000 0D0DOOO0OO00ODODOODOOOOODOOOOOOOODOODOO
O0000000000000 Interface Subroutine Package DO OO OO0 O

http://gedas.stelab.nagoya-u.ac.jp/simulation/jst2k /hpf02.html

4.3.1. graphics program to make PostScript files

1. gmi50b.f (main) + gsubl50.f (subroutine)

noon-midnight meridian and equatorial plots (black and white)
2. gm220b.f (main) + gsub220.f (subroutine)

energy distribution of cross section
3. gm480b.f (main) + gsub480.f (subroutine)

3-dimensional magnetic field lines

<<execution of PostScript graphics program>>

. £f77 -c -0 gsub1b50.f

. £f77 -0 gm150b.f gsub150.0
. a.out > gml50b.ps &

gs gml50b.ps

g s W NN -

lp gml50b.ps

1. £77 -c -0 gsub220.f
2. £f77 -0 gm220b.f gsub220.0
. a.out > gm220b.ps &

w

. £f77 -c -0 gsub480b.f

. £f77 -0 gm480b.f gsub480b.o

. a.out & : output is written in fort.10
. mv fort-10 gm480b.ps

B W N =

mobooooboobooobooboooboobobo MEDODODOOOOOODODOOOODOODOOD
ooooooobboo0o0oooobooobobo0o0oobo0odbgmlbbps 00 0oonoon
OO00O000000oDO0D0gm220b.ps OO0 OOODOOODOOOO gmd480b.psO OO0

5 VRMLOOOOOOOOUO

U0 0OD0O0 Virtual Reality Modeling Language 0 O 000000000000 0O0O0O0OOOOO
oooooooooobooobooOobOoooooobobooDbDOoOo0oobOooooUDOobOoooUDOoD
ooooooooO0ooDOOoO0O0obOO0obOO0DObOO000obOOobOoOO0oODbDOoDbDbOO00UObObOoOo -
bbb oboboobob oo UobOoD 20000 cosmo player 000 00O g
oooooooboOooboouobobuobboooooo

Mogoobooobbobo oo b oo b0 bDoooobOoboDOobDbbOd Fortran
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3D MHD Simulation of Earth's Magnetosphere A0 MHD Simulation of Earth's Magnetosphers
Incoming Souhward IMF, Bz = -5 6T Density and energy of cross section
Incoming Souhward [MF, Bz= -5nT

lgags 1 fim | mapm 30 res LRO = QORe

o7 o0bO00b00ogooobobo0oboboobbo O & ooooboogoboboooboobbo
goooboooooboboooobbooob oboobooooboobooobobboooboo

gm150b.psU] gm220b.psU]
A0 MHD Stnaddatkon of Earih's Magneissbers
Brs <% BT e Sie Vo Sliesiy b G

AD MHD Simulation of Earth’s Magnetosphere
Incoming Soathward IMF Br = -5aT

O 9 000000O0O0O0O0O0O0O0O0DO0 O 100 VRMLOOOODOODOODODOO
0 gm480b.psO O zvrml0l.wrlO
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Interface Subroutine Package 0 000 00000 O00O0OODOODOOCOOOOOOOOODOODOO
000000000000 U00000*wrlOODODODOODOD0OOODOOODOODODOOOODOOOOO
PostScripp D 00000000 OO0ODOODOOOOOOODOOVRMLODOOOOOOOOOOODO
U0 walkkOOODODODOOOOODOOODOODO0ODDO examinel OO OO0OOOOOOOOODODOO
gbobooooooooooboooobooobon

5.1 FortranOOOOODOOODOOOOOOO
ftp://gedas.stelab.nagoya-u.ac.jp/sramp/simulation/vrml/

VRML (Virtual Reality Modeling Language) and PostScript Fortran programs

1. vrml
3-dimensional visualization Fortran program by using VRML
2. PostScript
Fortran test program to make PostScript graphic files
3. PostScript2
Fortran test program to make PostScript graphic files with subroutine

52 000O0O0OCOCOOMHDOOOOOOOOOOOO
ftp://gedas.stelab.nagoya-u.ac.jp/sramp/simulation/earthb/

3-dimensional graphics program by VRML files
<Virtual Reality Modeling Language>

1. zvrmagb.f (main) + zvrsubb.f (subroutine)
3-dimensional magnetic field lines
2. zvrcrob.f (main) + zvrsubb.f (subroutine)

cross sectional pattern by pixel image
<<execution of VRML graphics program>>

. £77 -c¢ -0 zvrsubb.f

. £77 -0 zvrmagb.f zvrsubb.o

. a.out & : output is written in fort.10
. mv fort.10 fort.102

Bw NN -

. £77 -¢c -0 zvrsubb.f

. £77 -0 zvrcrob.f zvrsubb.o

. a.out & : output is written in fort.10
. mv fort.10 fort.101

. cat fort.101 fort.102 > zvrmlO1l.wrl

O N O O =

gbobgooobooboobbooooooboooooboboboboobbooboooooooDD 00D
god
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6 G4OQUoOnO

C OO0 VP-26000 00 S8200 NEC SX-30CRAY Y-MPOOOOOODOOOOOOOOOOODO
ooooooooobooboMEDOOODODDO FortranO OO ODOODDODODOOOODOODOOOO
ooooobooboooboboobbobooooooo MEDODOODODOOOUODODODO
Uoo0000 FortranOOODOOOOOOODOOOOOO0OO0OOMHEHDODOODODOOOOODOOO
goooboooMHDOOODOOOUOOoooOoooboboobooooobooboboobooboooo
goooooooooooooogoobbbobbbo bbooboooooboboooooooo
OOFortran0 00 000000000000 0O0DODOODOODODODODDOODDOOOOODOODOODOD
goobooooobobobooooboooboobobbobbooooooboboobooobobo
gooobooboobboooooooobbobooobooboooboooOoon FortranO OO ODODO OO
gbobogbboobooooonod

MO0000000000000000000000000D00000000 0 OHPF (High Perfor-
mance Fortran) 0 MPI (Message Passing Interface) D0 O ODHPFO OOOOO0OOOOOO0OOOOO
0000000000000 00000000o0O0oO0O0O00ODO000OO HPF/JAODOOOOO
00000 HpFODOODOOOODODOOOOODOODODODODODODOODOOOODO NECODODOODO
ugooooooooboobbobbobobboooboooouooooboobboobbobobooboo
goooo MPIDODOODDODODOODOODDODODOODODODODODODOODODOOMPIOOODDOOO MHD
000 000000000000 OVPP FortranO HPF/JAOOOOOOOOOOOODOOOOODO
gooboobbobooooMPIODODODOODODDODDDODODODOODDOODDUODDODDOODO
gogoooooobooooooon

moooboboobooobooooobbbooooooooobbooboobbobobooooboDbo
goboboobooobooobonoobooobboobboooobobobobobooooooon
ggbobboobobobooobobobooobbobooobooooboooboboobobboad
gbobobodobbboobbuooobbbooouobooobbuoboouooobobooobood
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MPIOOOOOOO

gbobodbgobobooboobobooboobaoon
00 O (0000000)snozawa@env.sci.ibaraki.ac.jp

1 0000

0000000000 00oo0o0(ooo0)0oooooooooooooooooo
00000000000MPIOOOOMPIO Message Passing Interface[2] 0 00 OO0 O MPI
0000000000000000000 MPICH[3,LAM/MPI[4]000000

000000000000 000o00o00 (MIMD:Multiple Instruction Multipule Data) O
000000000000 00000000D00000MessagePassing(DO00000O00O0
0)000000000 MPIODODODOOOOO (rank)dPE(Processing Element) 0 0 O O
O0)0000000000000ooO00o0oo00oooooooOoooDoOooooOo

0100000000000000000000000 (A:Machine(CPU,0OS,,) 0 OO0 OO
00)0000000000000000D000000000 (aMemory 00O x(i)O0O00OO
0)0ODOD0O000 (x(i)+a) 00000000000 (B:Machine(CPU,0S,) 000000
0)000 (metwork) D OO OOOOO0OO0O0OOOO0OOOOOOODOOOOOOOOOOOO
000000000 (:Memory) DO0O00O000D0O0O0D0O00O0DOO0OO0O0OO0OOOOOO
(@Memory) 00000000000 (b:Memory) 000000000000 O0O0OO0OO

a:Memory b:Memory
Ennnnni - - Ennnnni
E ooooa E X(I) ) )( ] X(I) E oo E
= | x()[+a| O x()+o] £
— : network =
- 1 I
A:Machine(CPU,Q0S,)) B:Machine(CPU,QOS,,

01.00000000000000

00000000000 00oDoO0o0oooo0oooooooooooooooooo CcrPyu
goobbooooboobobooooboobooooboobooboooobbbuoooobLbbuoooon
goobobooobobobtoooobbboooobbboooobDbboooubDbboooo
gobboooooboboooobobooon

O0000000000000000000 (MO OS)00o0oo00oooDoDo (Moooo
O000)000000000000000000000DD00DODoOOoMPIOODOOOOOOO
goobboooobobobboooobobbuoooobbboooobbboooobLbboooo
gooboooooobooooobooboa



00o000oo0C/C++ 000000 FORTRANOOODOOODOOOOOUOooooooo
O0000000000000FORTRANOOOOOOOOOOOOOOMPIODOOOOOO
gobdoooboobooogbodgoooogn

O000000000000000000000MPIOOOO0O0000000000000O
OoO00oOo0oOoooooMPIDOODOOOOODOOODDO

0000000000000 000000 UNIXOOOWindowsOOOOOOOOOOOO
guobdbooobodobdoogodgbooooobodboouoogoaoaoodn

00000000000000000 (SIMD: Single Instruction Multipule Data) 0 0 0 O
0000000000000 000000D0D00 SMP(Symmetric Multi Processor) O 0 0O O
000000000000 MPIOOOOO0OO0O (thread) O OpenMP[5] 000000000
Dubooooodaoaood

2 000D0OOO0O0ODOOoOooo

dooobobooooooboooooobboooob oo ooooobooo
goobobooobobobboooobobbbooodbobboooUbbbbooUbLbbboood
goobooooboobbooooboobbooooobobboooobLboboooobLbLbooOon
020000000000000000O0O000DOOO0ODOO0O0ODOOOOOODOOODOOO
gobbboooobbbooobbboogbbboooobbboooobo

0200000000000

OoO000O0OO00bOOo00O0oOoO0O0oDo 3J0poo0oooooooooooDoooooDooo
goobbooobobobbooobbbbooodbbbboodbbbbooUbbbboooo
OO0DbO00O0O00O0ob 3000b0bo0oooob0oooooobooboooooobooooOoo
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YIHAE / /

J—FK0 ﬁ/ \

J—FK: \

\
J—NRK:2 e
= \ o
ﬁﬁ%ﬁ'ﬁ = :4 >l >

03:000000000000000000000DOO0000DOOD

0000000000000 0000000D00O0000000oDoooooooooD CANS
O00000OMPIODDOOOO0O0O0OODODODOOO0O000O0ODO0O0OOO0O00O00DDOFORTRAN O
ODoOO0000O000i-nO00O0OOCOOODOOO0OD

3 CANSIDOOOOOOO

3.1 main.f

cans(or cans-current)/cansld/mdp_shktb OO0 mainf O MPIOOOOOO
goodoooooooon
a N

include "mpif.h"

call mpi_init(merr) _
call mpi_comm_size(mpi_comm_world,npe ,merr
call mpi_comm_rank(mpi_comm_world,myrank,merr

call mpi_allreduce(dt,dtg,1,mpi_double_precision,mpi_min
& ,mpl_comm_world,merr)

_ call mpi_finalize(merr)
\_ /

O0000000O0Omainf O00D0D0ODODOOOOD (CANSOODODOOOOOOooooooo
0000000000000 000)§O0D000oooooo

include "mpif.h"
call mpi_init(merr)

00000000000 include "mpif.h" 0O mpifth 0O0ODO0O0OO0(QOODO0)



0000000000000 0MPIOOOOOOOOODOOO000O0O00O0*O
00 mpi_init OO00O0O0MPIDODOODOODOODOOOOOmMerr O0DOODOODOODOO
gooboooooooo

( call mpi_finalize(merr) )

O00000000mpi_init O000OO0OO0Omerr D00000000000000O00OO
OMPIOODODOODOOODOODOOODOODOODOODOODOODODOOOO MPIOOOOOODO
gobobooodoobuooooobooooboboooobbboooobnobog

call mpi_comm_size(mpi_comm_world,npe ,merr
call mpi_comm_rank(mpi_comm_world,myrank,merr

call mpi_allreduce(dt,dtg,1,mpi_double_precision,mpi_min
,mpi_comm_world,merr)

O000000 mpi_comm_size O0000OO0O000OO0OOnpe 00000000 DOOOO
mpi_comm_rank OO0 000000000000 0000CO00 myrank O0OO0OO0O00O0O
000 mpi_comm_world 0000000000 Onpemyrank 0000000000000
DO0O00O0O myrank 00,12, 0 00000000000000000

00 mpi_allreduce 00 400000000000000000dt OOOOOOOOO
(mp_mn)DOOOOO0O0O000000Odg O000OCOOO0O0O0O0O0g

J—FRKo0| |J—=F:1| |J—F:2
dt(=0.2)  dt(=0.1)  dt(=0.3)

— dtg=min(dt@:
l npi_mn

dig(=0.1)  dtg(=0.1)  dig(=0.1)

J—FK:0 J—F:1 J—F:2

0 4:mpi_allreduce 000000000 dtO0OO00ODO dtg0D00 (mpi_min)D0000

gobobobooooobobooooboboboooobooboooobooboooobnobooboa

“l0D0000000000000000000 include "fopt/usr/local/mpi/mpif.n" oooooo
ggobobooobobooobo



0000000000 CFLODO0O0O0000oOoo0oooooooooooooooooog
goobbooobobobboooobobobboooobobbboooUbDbOboooUbDbboooo
goobbooooooboooobooboooobobbboooobLbboooobLDbLbooOog

gobobooooobuooooboboooobobboooobbboooobLbboooonoo

3.2 exc.hf

00O cans(or cans-current)/cansld/commonmpi O00/exc_ hf O MPIOOO
gbododoouoooboooooouodouoooooogoououoooooooooon

goboboodoobobboooobobbooobobbuoooobobooon

mright=" myrank+1

mleft = myrank-1

if (myrank.eg.npe-1) mright = mpi_proc_null

if (myrank.eq.0 ) mleft = mpi_proc_null

do i=1,margin
bufsnd(i,1 =roEix—2*margin+i
bufsnd(i,2)=pr(ix-2*margin+i
bufsnd(i,3)=vx(ix-2*margin+i)

enddo

call mpi_sendrecv

& (bufsnd,mmx,mpi_double_precision,mri ht 1

& ,bufrcv,mmx,mpi _double_ precision,mleft,

& ,mpi_comm worlEl mstatus,merr)

if (myrank.ne.0) then

do i=1,margin

i)=bufrcv(i,1

prEi :bufrchi,Zg
vx(i)=bufrcv(i,3)

enddo

endif

~

mright (=myrank+1)

J—F:0

\

mpi_proc_null

J— K1

N
mpi_proc_null /
k-

/ — K:npe-1 \
/ %

mleft (=myran

1)

O 5:mpisendrecv 000000000 0O0OO0OOOOOOOO



O050000000000000000DO0DO00DO00DOOO0ODbOOOOODOOn

mright=" myrank+1

mleft = myrank-1
if (myrank.eq.npe-1) mright = mpi_proc_null
if (myrank.eq.0 ) mleft = mpi_proc_null

mright,mleft 000000000 0DO000O0D0o0O00DoDOo0ooOOooooog 41,1
0000000000000 0O0O0O0myrank,h=0,npe-1 O0000000000O0OO (O
O000000)000mpi_proc_null ugobbooobobbooooooboooooon

call mpi_sendrecv

& (bufsnd,mmx,mpi_double_precision,mright ,1
& ,bufrcv,mmx,mpi_double_precision,mleft,1
& ,mpi_comm_world,mstatus,merr)

000000000000 bufsnd,bufrcv 0000DO0000D0 e0DODOODOODO
000000000000 Ompi_sendrecv 0000000000D0OOOOOOOOOOO

J— K

Vo

J — R+t

R
bufrc
O >
% 7
VX

0600000000000 000DDOO0O0O0DDODOOOUOODOOD

4 MPIOOOODDODOOODOOOOO

MPIOOODOOOOOOOOOOO0OODOOOOO00ODOOOO000ODoOoOOoOooooDoooooooon
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41 mpicommsize: 000000000

mpi_comm_size(communicator,size,ierr)

aad u goad ao

communicator | integer | 0O [ 000 mpi_comm_world
size integer | 00O oooooooon

merr integer | OO ooooo

ex. call mpi_comm_size(mpi_comm_world,npe,merr)

4.2 mpicommirank: 000000000000

mpi_comm_rank(communicator,rank,ierr) : 0 < rank < size-1

o g god ao

communicator | integer | 00 000 mpi_comm_world
rank integer | 00O ooooooooooo
merr integer | 00O ooooo

ex.call mpi_comm_rank(mpi_comm_world,myrank,merr)

4.3 mpisend: 00000000

mpi_send(buf,count,datatype,dest,tag,comm,ierr)

g g god auo

buf a0 00 oooon

count integer | 00O ooooo

datatype | integer | OO oooooooogooon
dest integer | 00O pooooooogooon
tag integer | 00O ooooooon

comm integer | 00O 000 mpi_comm_world
ierr integer | OO ooooo

ex. call mpi_send( x,1,mpi_real,0,itag,mpi_comm_world,merr)

44 mpirecv: 00000000

mpi_recv(buf,count,datatype,dest,tag,comm,status,ierr) : mpi_send O 0 O status 0 O O

g g god go

buf 0o 0o ooooo

count integer | 00O ooooo

datatype | integer | OO oooooooooooo
dest integer | 00O gboboooooboboon
tag integer | 00O 0o0oo0oooon

comm integer | 00O 000 mpi_comm_world
status integer | OO oooo

ierr integer | OO ooooo

ex. call mpi_recv( x,1,mpi_real,i,itag,mpi_comm_world,mstatus,merr)



45 mpidsend: 0000000000

mpi_send 00 0000000000000 00000000000O0O0O00O0O0O0O0O0O0OO0O0O0O0O
0000000000000 0oooo mpiisend 00000000000 OCOOO0OO0OODOOOOOOOO

00 mpi_wait 00000000020
mpi-isend(buf,count,datatype,dest,tag,comm,ireq,ierr) : mpi-send 0 O O ireq 0 0 O

od O ooo | 0od
buf go g goooo
count integer | 00O ooooo
datatype | integer | OO oooooooooooo
dest integer | OO oooooooooooo
tag integer | 00O Oo0ooooono
comm integer | 00O 000 mpi_comm_world
ireq integer | 00O oboOooooooooo
ierr integer | OO ooooo

ex. call mpi_isend( x,1,mpi_real,0,itag,mpi_comm_world,ireq,merr)

4.6 mpidrecv: 0000000000

mpi_recv 0000000000000 0000O0O0OO0OO0OOOOOOOCOOOOO0OOO0O0O0O0O0O0
0000000000000 00ooo mpiirecv 0000O0OOO00O0OO0OOOCOOOOOOOOOOO
00 mpi_wait 0000000000

mpi_irecv(buf,count,datatype,dest,tag,comm,ireq,ierr) : mpi_recv O status O ireq 0 0 O

o0 0 ooo | o0

buf RN RN goooo

count integer | 00O ooooo

datatype | integer | OO uoboooooooonDon
dest integer | OO oooooooooooo
tag integer | OO Oo0ooooono

comm integer | 00O 000 mpi_comm_world
ireq integer | 00O ooooooooooo
ierr integer | 00O ooooo

ex. call mpi_irecv( x,1,mpi_real,i,itag, mpi_comm_world,ireq,merr)

47 mpiwait: 000000000 00O0O

mpi_wait(ireq,status,ierr) : ireq,status O 0 O

go U gog go

ireq integer | 00O oooooooooon
status | integer | 00O oooo

ierr integer | OO ooooo

ex. call mpi_wait(ireq, mstatus, merr)

2000 isend OOOOOOrecv ODOODOOODOOOTrecv DOODOODOODOmpiwait 000000
*3isend DODOOODOD recv ODO0DOO0ODO0O isend DODODODOODOO send 0DO0D0OO0D0OO0D0OO
mpi_wait 000000



4.8 mpisendrecv: 000000000

O0ooooooooooooooooooooooooo
mpi_sendrecv(bufl,countl,datatypel,destl,tagl buf2,count2,datatype2,dest2,tag2,comm,status,ierr)

oo g ood oo

bufl g go goooooogo

countl integer | OO ooooo

datatypel | integer | OO goobooobboooooood
destl integer | 00O oboboooboboooo

tagl integer | 00O oooooooon

buf2 go go gboobogooogo

count?2 integer | 00O ooooo

datatype2 | integer | OO gboboooboboooooban
dest2 integer | 00O oooooooooooon

tag?2 integer | OO ooooooono

comm integer | 00O 000 mpi_comm_world

status integer | 00O oooo

ierr integer | 00O ooooo

ex. call mpi_sendrecv(x,1,mpi_real,0,1,x0,1,mpi_real,i,1,mpi_comm_world,mstatus,merr)

49 mpireduce: 00000000 DOOODOOODOOOOOOO
mpi_reduce(bufl,buf2,count,datatype,op,dest,comm,ierr) : op O O O

go g god go

bufl a0 00 0o0oO0o00ooon
buf2 00 00 000000000
count integer | OO ooooo

datatype | integer | OO oooooooogooo
op integer | 00O oo

dest integer | 00O oooooooogoooon
comm integer | OO 000 mpi_comm_world
ierr integer | OO ooooo

ex. call mpi_reduce(dt,dtg,1,mpi_double_precision,mpi_min,0,mpi_comm_world,merr)

4.10 mpiallreduce : D0 0000000 O0OOODOOOOOOOO
mpi-allreduce(bufl,buf2,count,datatype,op,comm,ierr) : op 00 O Ompi-reduce 0 00 dest 00O

o0 a ooo | o0d

bufl oo oo ooooooooo
buf2 go g gboooogban
count integer | 00O oooon

datatype | integer | 00O oooooooooooo
op integer | OO 0o

comm integer | 00O 000 mpi_comm_world
ierr integer | 00O ooooo

ex. call mpi_allreduce(dt,dtg,1,mpi_double_precision,mpi_min,mpi_comm_world,merr)
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411 mpibcast: 0000000000000 OO0OOODOOOOOOOO

mpi_bcast(buf,count,datatype,dest,comm,ierr)

oo 0 oo RN

buf oo o0 ooooo

count integer | 00O googoo

datatype | integer | 00O oooooooooooo
dest integer | 00O goooooood
comm integer | 00O 000 mpi_comm_world
ierr integer | 00O ooooo

ex. call mpi_bcast(x,1,mpi_real,0,mpi_comm_world,merr)

412 mpigather: 0000 O0O0O0O0DO0OODOOOOOOOOOO

00000 mpi-gathervmpi_allgather,mpi_allgatherv 0 O O O
mpi_gather(bufl,countl,datatypel,buf2,count2,datatype2,dest,comm,ierr)

o 0 0on 0o

bufl od oo ooooooood

countl integer | 00O ooood

datatypel | integer | OO Oo00o0oooooooooooog
buf2 od gd gooooooon

count2 integer | 00O ooooo

datatype2 | integer | OO 00Oo0o0ooOOooOooooobaono
dest integer | OO oooooooooooo

comm integer | 00O 000 mpi_comm_world

ierr integer | 00O oooog

ex. call mpi_gather(x,1,mpi_real,x0,1,0,mpi_comm_world,merr)

4,13 mpiscatter: 000 DO00ODO000DO00O0OOO0OOOOO

mpi_bcastDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD mpi_scatterv 0 0 0O
mpi_scatter(bufl,countl,datatypel buf2,count2,datatype2,dest,comm,ierr)

ao O oob | 00

bufl oo go gbooboooooo

countl integer | 00O ooooo

datatypel | integer | OO oooooOoooooooooon
buf2 ao od oobooooooo

count?2 integer | 00O ooooo

datatype2 | integer | OO gboboobodaoobooban
dest integer | 00O oobOoooooo

comm integer | 00O 000 mpi_comm_world

ierr integer | OO ooooo

ex. call mpi_scatter(x,1,mpi_real,x0,1,0,mpi_comm_world,merr)

10



J—F0|x1 x1

/= Fu mpi_bcast x1

J—FK:2 :> x1

J—FK3 x1

J—K4 x1

J—F0|x1 . X1 [ x2|x3|[x4]|x5

mpi_gather

J—FK:1|x2

J—FK2|x3

J—F3| x4 <l‘:|

J—F4 s mpi_scatter

J—F0|x1 x1| x2|x3|x4|x5

J—F1|x2 _ x1|[x2|x3|[x4]|x5
mpi_allgather

J—F:2|x3 :(> x1|x2 [ x3|x4|x5

J—FK3|xa x1| x2 | x3|x4|x5

J—F4|x5 x1|x2 | x3| x4 | x5

O 7: mpi _bcast,mpi _gather,mpi  _scatter,mpi  _allgather

414 OOODOOODOOOOO
datatype 1000000000000 00000

gooooo bytel:l MPIODOOOOOO
integer,integer*4 4 mpi_integer

real,real*4 4 mpi_real

double precision,real*8 8 mpi_real8, mpi_double_precision
complex 8 mpi_complex

double complex,complex*16 | 16 mpi_complex16

character 1 mpi_character

byte 1 mpi_byte

logical logical*4 4 mpi_logical
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415 MPIOOOCOCOO (op)
mpi_reducempi-allreduce 00 0000000000000 0O0O0Ompi-opcreate00000000

goooooog

goooog RN goooooooog
mpi_sum 0 mpi_integer,mpi_real,mpi_real8,mpi_complex
mpi_pro O mpi_integer,mpi_real,mpi_real8,mpi_complex
mpi_max oo mpi_integer,mpi_real,mpi_real8
mpi_min oo mpi_integer,mpi_real,mpi_real8
mpimaxloc | 00000 mpi_2integer,mpi_2real,mpi_2double_precision
mpiminloc | OD0O000O mpi_2integer,mpi_2real,mpi_2double_precision
mpi_land ooo mpi_logical
mpi_lor ooo mpi_logical
mpi_lxor xor(DOOOOO) | mpi_logical
mpi_band oooooo mpi_integer,mpi_byte
mpi_bor oooooo mpi_integer,mpi_byte
mpi_bxor 000 xor mpi_integer,mpi_byte

S 0o

000000000 UnixOMPIDOODODOOOOOOOOO

(mpif?? (or mpif90) test.f

dobobooooboboooobooboo

(mpirun -np n( 0000O0O0OO0O0O0) a.out (ex. mpirun -np 2 ./a.out) )

0000000000000 0D00O000O00DOO00000oDoDOoooC-c0DOOO0OO0OO
gobbodddpsbbboooboboog

(kill -9 ( oooooo) or killall -9 a.out )

gogoooobbbbtooooogouooobobbb b oooboobbbbooooo
goboboooobobooa

(http://www.env.sci.ibaraki.ac.jp/"snozawa/mpi/ )

goboboodoboboooooobooooboboooobboooobboooooboo

6 0000

[1] http://www.env.sci.ibaraki.ac.jp/"snozawa/mpi/summer03/

[2] http://www.mpi-forum.org/

[3] http://www-unix.mcs.anl.gov/mpi/mpich/
[4] http://www.lam-mpi.org/
[5] http://www.openmp.org/

12





